Question Booklet No.

Question Booklet Code SLRC_ 2 02 2

B Paper : I

Roll No.

Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Maximum Marks : 135

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-96 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 09:55 a.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 135 questions of 1 mark against each
question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘B’, then he/she should fill up ‘B’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘B’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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(S8 (SEF TS Jfol [REI0A1 F1 27 |
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o T 2T AT AHIAF €= Vg OMR T&T “[@rz il 27 | G 2 I WFm IRIA
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Important Instruction :

o T faPoe 2l Ttw TTe eFITS $'T TGB! OMR Tes g S 5iz® forat 27 |
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@ I S0 A0 Ko 91 23 |
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(rough) FT& TEIITq FCA, OCF G2 TELICGH TeNRE Pl 24 1 |

® 7T IR & ANFIANET I g OMR Tea7@ (e X | G T A Wa TN &
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® [P TR 2 TD! ¥R &g 135 5 el AFE @R 2oF T Ty 1 999 07 i
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® o TG T (I YO FI AP |
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o IR ST R T ATS 2@ @ WA 2Bt IS 2@ | @ - SR,
AR, AT, TR @R TG | @3 CHG TGN ORI (I LR SERS T ([@I0
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Important Instruction :

o *ArHTy Rce 2ex BT ATS eRetad IS THAG OMR Sed7itad e 2w @4t = |
TrizgerE, AR SR 2ioiad (IS ‘B’ AFE OMR Te320a3 FfiR 2w B’ fordte 2@
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WA 3T&AT TSI ST BT AT €T e/ SHTd ST |
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feA=@™T rough TEE TR foeTsaE T oA TEWH @RS SEREEl FE A8 |
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o St st forar ferette @ s 9= |
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Important Instruction :
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Important Instruction :
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1. TR R T9R9 e R T S-ES 2

Q) TOHE HIF FERIRT (B) oIS o< @G
(C) TN S %6g (D) oG i< cxife
1. Tl g ToICes W0 TR O S ?
(A) TISR G FERRE (B) oie @R @REG
(C) TN &= A%6q (D) fozsrs @ i
1. 99 TR e TS9N TR TRE 8 (SheAT) 31g 2
(A) TG TR HicTATER (B) Tia 3R SER
(C)  SfireT SR Fee (D) fesrre oY Smsh
1. 51 & e § TR g R g 2
(A) TR R BT (B) g 3R @
(C) e 3R 9=l (D) fespre 3 gmrsht
1. Between which two towns is the Naranarayan Setu situated ?
(A) Tezpur and Kaliabor (B) Nagaon and Jorhat
(C) Jogighopa and Pancharatna (D) Dibrugarh and Dhemaji

2. IR T RS I (FI i 2

(A) tEPs Pikg (B) TICamE Pz

(C) Tcem Preg (D) w9 Pz
2. RN SR (1Y A&l (& Rt ?

(A) vEPs Pikg (B) TICaPs Pz

(C) P Bz (D) <& Pz
2. 3TEM USThIGRI ST TSR AHA ?

A) =z fig (B) e firg

(C) wwever fiig (D) o< fag
2. 3ITEM GIHTSH T | T i AT ?

(A) =ghid g (B) < fig

(C) Huor &g (D) T &g
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Who was the last king of the Ahom Kingdom ?
(A) Chandrakanta Singha (B) Jogeswar Singha
(C) Kamaleswar Singha (D) Purandar Singha

TR @EIFEIR TR T W AR (P QU S eFifRre (2feeT ?

&) @ (B) SFTIMR

(C) T (D) THRR

T @O A0S “ (I SR o SR 22w @ #faah e g :
@A) (B) SRECAIH

(C) Tt (D) TS

ALY SFEEIMH “3 AR AR <N G- T §ig1 BIETasms= 2
(A) =& (B) 3T&ARE

(C) Hfafs (D) iR
ALHATY SIS oh hiodT “3T HIL THMR ¢ Tgelt SR SR g off :

(A) dEH (B) 3revilgrs §

(C) AT (D) SHTRI T

Laxminath Bezbaruah’s poem “O’ Mor Apunar Desh” was first published in
(A) Bahi (B) Orunodoi

(C) Jonbiri (D) dJonaki

A% (I (Pl el 52 2

(A) e iR (B) Fefereiizs
ORESIGIR (D) 22T

TP I ORI SN *2e 2

(A) v it (B) FRefersiizs

(C) Zrwsm (D) fZere

SehehaTl 91 BTl TaUTE ?

(A) @reT HITET (B) forefiftma

(C) sEHfEn (D) oTgeAvs

Y
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4. Sopieh TIYT ML & —

(A) gl spife s (B) fohefidi o

(C) SSHfR (D) UTSets i
4. Bangkok is the capital city of

(A) South Korea (B) Philippines

(C) Indonesia (D) Thailand

5. G SIF W@ (UAE) T @[ =1 &5 2

A) =9 B) foa=
(C) foaaw (D) T
5. Y@ SFA SREHIR (UAE) J@ItE F 0T ?
A) FEEA (B) ==
(C) foxa™ (D) T
5. TS 3RS THRAH U @raRaT a1 ?
(A) TS (B) fem
(C) fegnm (D) e
5. TIH IS WA (UAE) Fi ggr o 8 2
(A) ¥ (B) fer
(C) fe&m (D) fiehet
5. What is the currency of United Arab Emirates (UAE) ?
(A) Ruble (B) Dinar
(C) Dirham (D) Shekel
6. PTIS ST AT FRIRRR (i OI%S Fife 2fee ?
(A) @G (B) @2
(C) PRI D) fT=aw
6. SPIE =¥ bfeeat wRifmyert (i afsfre 2w ?
A) @b B) @z
(C) e (D) ey
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e ffafm aresrmETe s (Medical College) @ €8T TRGHE MM ?

(A) SiETe (B) T

(€) Frerr D) fegme

3TEH o Tgel HfShol hictsl <hl TATOHT el g5 off 2

(A) SiETe (B) T

(©) T (D) fems
Where was the first medical college of Assam established ?
(A) Jorhat (B) Guwahati
(C) Silchar (D) Dibrugarh
fafeTfie e o2 T9o iaa Fe5as! 2

(&) gFAN (B) el

(C) FHRM™ (D) «lam
oI P 2e1(G el frgits 31earal 91 ferpbro 2

) BTN (B) el

(C) TI™AmM (D) «lam
MERM o8 ST MeH feedfifi dta e 7

(A) TeI™ (B) f~cm

(C) forehetrse (D) &7s1g
FfcTRaa o € % |1 TE 7% foweft & fehe 2 2

(A) TeI™ (B) ™

(C) forehetrse (D) &1
Which of the following places is adjacent to New Delhi ?
(A) Gurugram (B) Nandigram
(C) Secunderabad (D) Dhanbad

TG CADIT I (T &G TN ifRe ?
INIRE G (B) Sl
(C) Teaize (D) 2T

Y
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TG ISR I (TN &ATeT 2iYfesa) =t ?

) iy (B) FHICl

(C) oA (D) =Y

AT = 371 S BT ST0T TMET A 7

(&) =fietoe (B) &ATET

(C) T (D) ¥<IUs

AT = t@ YTt off

(A =fcte (B) el

(C) TR (D) ¥ie

Margaret Thatcher was a former Prime Minister of

(A) New Zealand (B) Canada

(C) Israel (D) England

AN I SEIHI e SoTeiol (R :

(A) AR AE (B) <R &eirett

(C) T (D) =% e

MR R SR T2 SeTls] A <1 257 :

(A) AR AE (B) Tfr &ttt

(C) I e (D) IR @eret

Y TR AT T U ¢ STEF (Body of water) @ |1 Huit frfereman 7
(A) T SIS (Canal) (B) ST E-gSe (Strait)
(C) Hus I (Canal) (D) Tk BT-GS (Strait)
Y 3N 3TATER o &4 9 +Heh & :

(A)  IIHTTE (B) < SerERSt

(C) T (D) Tk STergaref

The body of water between Russia and Alaska is

(A) Panama Canal (B) Bering Strait

(C) Suez Canal (D) Palk Strait
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10. TSI TMCeT 0 FoRee SPTE JaE! (i Crfe ?
(A) == epiw oferg (B) *qe 5% Pieg
(©) e @y (D) Tl 94l
10. TN I IR RS SPICHR YU (et 2
() =Tl @pim ool (B) *@e 5% Bz
(C) T (i (D) ToIeT IR
10. MY sty STaAT | smami firfe af=r smeme 2
(A)  Tomer gaE =feran (B) 3 == fHer
(C) Torsorrm wfy (D) TAT STE
10. T SREet o qd STg 3T o eIt hid & ?
(A)  Tomer g =ferel (B) “Rad =i &g
(C) ferupm wfey (D) TATY ST
10. Who was the Chief Minister of Assam immediately after Gopinath Bardoloi ?
(A) Bimala Prasad Chaliha (B) Sarat Chandra Singha
(C) Bishnuram Medhi (D) Golap Borbora
11. ffefe @miay AT g wizee g (NHAL 3 1391 57  #[1 (@212 i 231 2
(A) I
(B) TG oM BLIF
(C) IWCSTD N9IF & A2
(D) efsT FH17 Jfears s
11. e Swie @R AaRan gh e elRead (NHAD @9 Fh5jel W% (A

SRfoad ?

(A) STEET

(B) TACGIERN B

(C) & TR &S T
(D) efeTws TR s T

Y
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11. TR B g6 RUTEHT NHAT BreaT 2ied s W g Sie) 7
VIR
(B)  Tferem bt
(C) U3 RN (Senior Citizens) 7 ey aerwmeh
(D) T@EfY wreET TEf TR
11. Tr=fafea @ forg amea 1 NHAL %1 3cd 8 g2 99 8 2
&) T
(B) ugiferam TRt
(C) afeg TAFTHERI o Fsht AT
(D) &I it o fstt amea
11. Which of the following vehicles is exempted from NHAI Fastag Tolls ?
(A) Ambulance
(B) Petroleum Tanker
(C) Private vehicles of Senior citizens
(D) Personal vehicle of Defence personnel
12. SPTHE 05! Sfs Forse e REDR @i 512 S[iEs ?
A) @3 (B) @2
(C) ToE (D) wsire
12, SIPIICH @2 S Forse qie FRAEGR S[/rEs S :
) @b B) @G
(C) To& (D) =it
12. mamf fifsfm mem g aesredmeht 7w, T foRer’ sneEg ¢
(A) TETEE (B) SR&EwR
(C) D) i
12. 379 1 UgaT e foruet e fruer fera 7
(A) TEEEH (B) @R #H
(C) o H (D) Tad
12. The first modern theatre hall of Assam, the ‘Baan Theatre’ is located in
(A) Guwahati (B) Jorhat
(C) Tezpur (D) Nagaon
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13. ferferiRre el o wise Sipis orgsfe ?
&) Tfera (B) Iferrea
(C) Do (D) At
18. ey Srarfire com orifl el Siefeics Wi ?
(A) IR (B) 3ferfea
(C) oPmifeal D) ICEfeA
13. TR o I3 @ietl SR ¢ ?
(A) Gt (B) wifafe=n
(C) a&TfRn (D) et
13. fr=forlaa & @ o @1 gw gfeqor smfem d 8 2
(A) Gt (B) Siefiter=n
(C) awTt=n (D) e
13. Which of the following countries is in South America ?
(A) Somalia (B) Bolivia
(C) Tasmania (D) Cambodia
14. SIS FIATO! RAR GG STHIATS Feipero] 0! #2W (2f%eT ?
(A) PR STHIET (B) ST Sfls! SITHIS
(C) o2 fearz (D) SIS SR
14. SRCSA FIATO! TR G TR FITeTo] 7| X2 ZRMRE ?
(A) SPREE (B) SO R
() iR fear (D) 3 Sl
14. YRAH ITEM YTER STAHT §6 HHEHRATRITE Shrisheldl sHSTTT SHIL SARAT ?
(A) THEITSEIR (B) WRd ATTRAT
(C) furs femmrrr (D) 3 wiff
14. WA o WaFal SAGeH | fohd STTGe | Shrishetdl 96371 reie g3 off 7
(A)  FrEEEm (B) W SISt
(C) fTourél fegie (D) @ferFa 3Ferst

Y
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14. In which movement during India’s struggle for independence was Kanaklata
Barua martyred ?
(A) Non-Cooperation (B) Quit India
(C) Sepoy Mutiny (D) Civil Disobedience
15. Frafire @eieee v2a Ae[-Siee w[igs 727 ?
(A) JRNTF (B) WA
© TR (D) I
15. ferca SR M (I CRTed TSR] */2e 77 ?
(A) IR (B) warR
© TR (D) I
15. TSRS BHTE HRAM 6 FLaT el §d 71 ?
&) =rIe (B) =~
©) =g (D) e
15, Freferfad i & 2 v B E R T A R
(A) e (B) ==
©) w=g (D) =it
15. Which of the following is not a sea-side city of India ?
(A) Bengaluru (B) Chennai
(C) Mumbai (D) Cochin
16. T eI TRAZTHYT ¢ TES ?
&) e (B) @zl
(C) waMme (D) =l
16.  IPTICY eI TR (I TFES ?
(A) et (B) @l
(C) =ele (D) =l
16. 3TEM SEERETR @] Wﬁ\?{ (Assam State Museum) IMEEIC ?
(A) et ®) TR
(C) i (D) IR
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16. 3THH U9 HUETOd el I 2 ?
(A) mrgett (B) e
(C) =i (D) &
16. Where is the Assam State Museum located ?
(A) Majuli (B) Guwabhati
(C) Nagaon (D) Kohora
17. RS e[ @ SRS SPRR @RE I3 fREIE el Ffe ore s ?
&) frE e (B) ©EG g <l
(C) Seelrer (71 (D) &l (vea
17. 0 SERema M6 (& SPIE @) ARE0 Tor S89e 2R ?
A) T (B) &S Ta T
(C) Selrer (71 (D) Z&rsl (veal
17. TEHETE ST SR A1 STEMH fRmveat e R gmm ?
(A) IS TSR (B) I Aol 9837
(C) TS IOREEIEE
17. Taferfaa & #i 3ram % Fafgs Sfeme @ & 2
(A) ISy &SRt (B) T How sl
(C) TSt o (D) 3T 3T
17. Who amongst the following is a newly inducted Cabinet Minister of Assam ?
(A) Pizush Hazarika (B) Jayanta Malla Baruah
(C) Ranoj Pegu (D) Ajanta Neog
18. TIMICH! S A SIToS I8I (BfeTfoms SRl Siag Ffafest ?
(A) 1991 (B) 1985
(C) 1980 (D) 1982
18. OINCS (P R G e (Gletieose S we Feaiee ?
(A4) 1991 (B) 1985
(C) 1980 (D) 1982
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18. o HISUTASTE QUG 3T ‘IR SeATfersi T’ Bt HRASTE BIETESHGAN ?
(A) 1991 (B) 1985
(C) 1980 (D) 1982
18. GEM A WA H T efiforsi Hishd fore o # 3% forar 2
(A4) 1991 (B) 1985
(C) 1980 (D) 1982
18. In which year did Doordarshan start colour television programme in India ?
(A 1991 (B) 1985
(C) 1980 (D) 1982
19. TAIRE PSR @i Seeime a2
(A) R (B) WIFIES TA= (@1 >
(C) Teref (D) &3y
19. @IRR afovicT enafe e i 2
(A) e (B) &SI AMPFT
(©) e (D) &3y
19. =7 (Boeing) aﬁtcrraﬁﬁgf\afégqman qr e
(A) IrEIfeE (B) ST 3R
(©) I D) e
19. ST U 1 M1k TG 1 & 2
(A) TR ST (B) TR % I
(G S (D) <=
19. What is the primary product of Boeing company ?
(A) Aircrafts (B) Breakfast cereals
(C) Shoes (D) Medicines
20. 2T SIS TRFHBIT (I SifEeT ?
(A) T BreeT (B) fe@w vreiz
(C) arCP =il (D) IR atarife
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20. TP SIS & TP IR ?
(A) T Bree (B) R@9iEreR
(C) Al =l (D) TSR siafife
20. ITHMHUSHAE ST e YRark gei gamar ?
(A) T ATEe (B) fersmm wmvTs
(C) e gt (D) Ff i
20. 3HANE H AT T8 WRATS i & ?
(A) eI ST (B) fershm wrms
(C) T vl (D) e
20. Who was the first Indian to go to space ?
(A) Kalpana Chawla (B) Vikram Sarabhai
(C) Rakesh Sharma (D) Yuri Gagarin
21. TR FCPHEE (SIGS 761 T97S 727 ?
A) T (B) 7GR
(C) I Bz (D) WD
21. 0y SRS FITISTENR 0y (PIiGre 9 e = =1 ?
a) oT% (B) = e
(C) TBfeT Bfepd (D) e
21. TERM ¢ T3 5 (ball) STERAETT ST ?
(A) Tie® (B) &9 dfE
(C) a9« df= (D) Ssfr==
21. T=IREd & 9 1 91 T Tig o1 ST &1 HLdl g ?
(A) e (B) @i 2fE
(C) 3= m (D) Ssfiea
21. Which one of the following sports does not use a ball ?
(A) Golf (B) Lawn Tennis
(C) Table Tennis (D) Badminton
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22. &foqR(q (" 2T 8 Oy ffeiie (I = ~iere 41 27 ?
(A) IR (B) %S o iz
(C) wIfirs frepy (D) TTOFT 9% [@qOEFEGS T
22, TG SRS W&y (A6 &S 99371 8§ T TSH1#fw el 23 2
(A) IR R (B) SN R ot
(C) = i D) TC T R @ FOT W
22, RN FoE SRS 3 H gH 8 @I I S ?
(A) TEEET A (B) 9Tg BIEAT™ 9H
(C) =™ g (D) T ™ AW & fshda o=
22, fr=fafed d @ o a1 feag st At 8 7S I AT AT 8 ?
A) IR T (B) dareg fue feaw
(C) weigfcam (D) Eohig 3T IE fortie feam
22. Which of the following is celebrated on May 8 every year ?
(A) Environment Day (B) No Tobacco Day
(C) Labour Day (D) Red Cross and Red Crescent Day
23. 1994 TS HIFIET G ¥4 - FTECR I6I6 FIF 21 1 (2T ?
(A) AR e B) .9 G-
(C) . e @@t (D) 8 8. @2
23. 1994 I TR CRI S9! (& A WO ZFHIE JFFS TR 2
(A) SHR™ (e B) .97. o™
(C) . 57 @MW (D) oS . @2
23. 3. 1994 WIS & AR G TG TR ATGISTE 0 B IUTE §F™ JEHH 2
(A)  3Tfer< ShaiaTet (B) .U, A
(C) = frmad (D) o< &, e
23. Topg TR BT i Aol § 1994 T {0 B [EhR § FETHA foharm 77T o 2
(A)  3nfog Heia (B) .. 3w
(C) . fortor o (D) foama €. @
23. Who was awarded the Ramon Magsaysay Award in 1994 in the category of

Government Service ?
(A) Arvind Kejriwal (B) T.N. Seshan
(C) Dr. Kiran Bedi (D) Chintaman D. Deshmukh

[
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24, TRl 29 (TG SAeq =G Flaw Toaz ?

(A) ©=FF (B) Taifza
(C) wirfeg (D) 27=0 - 1A
24, I SCEMRS @ADL ST 22w Fia $oiag ?
A) ©=FF (B) =i
(C) wirfeg (D) 2= - 1A
24, TEEM S&IT WA et e o= ?
(A) WTER (B) feeft
(C) 3w (D) T8e —3ME.U. (INSAT - IA)
24, Fraffga § @ %1 Wi 1 ggen Him 3umg o1 ?
(A) WTER (B) feeft
(C) 3miwg (D) 33— 3ME.T. (INSAT —IA)
24. Which of the following was the first artificial satellite of India ?
(A) Bhaskara (B) Rohini
(C) Aryabhatta (D) INSAT-IA
25. feraferie ST2a (I (el 7= ?
) for (B) “Am
(©) e (D) T
25. TG SwAS @I et “wig o 2
) for (B) #im
(C) SIAIRG (D) “whe
25. TR BRI S e 78T ?
@A) f& (B)
(C) 3t (D) &1 (Quartz)
25. FeAffeada s aTTm a8 8 ?
A f&= (B) 4w
(C) FEREH (D) &g
25. Which of the following is NOT an element ?
(A) Tin (B) Mercury
(C) Iodine (D) Quartz
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26. T2 MG FRIRY (Ko7 S2%] 217el T 2
Q) TGop & (B) =1 feees I
() Frarg, ob oz (D) =&z
26. MY TSR I =TS 231 w7 Seeeize AR ?
(A TGor &
(B) T e (T
(C) =3 70 (1T
(D) I-feI! (e
26. T&m1 g 99 3 IR Fieg Ty TG STEW AT ?
(A) fewer s (B) «in fewdd tH
(C) T8, e fesdm (D) T
26. femn g fope ¢ 3 Fies g & T ot 8 2
(A feoet s (B) =t gl hi e
(C) =g-grs, FA (D) &€
26. In which track and field sports does Hima Das participate ?
(A) Triple Jump (B) Long distance run
(C) Sprints, Short distance (D) Hurdles
27. TOmHa, 2021 I “SP7 1" 6! (&I AR TGS W 31 2= ?
(&) Gromal I (B) o 5i5!
(C) o f=mIIw (D) eI 7P
27. TO0mRR 2021 @ “SPT ([T *FHIE & IS AR ?
A) TECom=I GRS (B) & it
(C) Tou =R (D) NS 7
27. 3. 2021 ArsE feEmst qMaTE ITEm S99 SETE ST Y3 AR ?
CNIRECE-EIPRIS (B) W@
(C) @ form (D) FAHAINT TH
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27. TeEmt 2021 § “3Em d9a” | Topd TEATHA foha T/ &1 2
ENIRELFE BRI IL] (B) @
(C) T forem (D) 3Ty« g
27. Who was awarded the “Assam Baibhav” award in December, 2021 ?
(A) Jitendra Nath Goswami (B) Ratan Tata
(C) Ratan Thiam (D) Amalprava Das
28. W @ BRANI @G 612S w1qES ?
(A) T ®) I
(C) w7t (D) SREMHM
28. W™ @i GHEAN IR o[ES ?
(A) ™ (B) [
(C) =l D) HGmRm
28. WA Rfeam snaag ?
A) wEfer (B) ¥
(C) wawm (D) 3TEHeITE,
28, HgHiwfemm _ Hfewme |
A) wErer (B) ¥
(C) @ (D) 3TEHerETS
28. Narendra Modi Stadium is situated in
(A) Baroda (B) Surat
(C) Mehsana (D) Ahmedabad
29. MPLAD Sbf7® LAD 3 57} S[(1 (202 :
(A) Local Asset Development (B) Local Area Development
(C) Leading Asset Development (D) Local Area Distribution

[
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29.

MPLAD *f5=gite LAD J610® S @RIT ?

(A) Local Asset Development (B) Local Area Development

(C) Leading Asset Development (D) Local Area Distribution
29. MPLAD #r@¥ifig 31/ LAD 31 ATGi! ®RART ?

(A) Local Asset Development (B) Local Area Development

(C) Leading Asset Development (D) Local Area Distribution
29. MPLAD =iSH1 % LAD 1 &1 319 8 2

(A) Local Asset Development (B) Local Area Development

(C) Leading Asset Development (D) Local Area Distribution
29. What does LAD stand for in MPLAD Scheme ?

(A) Local Asset Development (B) Local Area Development

(C) Leading Asset Development (D) Local Area Distribution
30. fer3IfEl (R (i oige w[fEs ?

&) Fere (B) g et

(C) TR D) T
30. fecgifm @aEfee w[iEs wi :

A) TRl (B) T gl

(©) TR (D) TSI
30. foaie AHINEAsT F_1E ?

(&) i (B) e feeeht

©) =g (D) e
30. forifenomifme  #df@@z )

(A) HIAHEA B) = et

©) =% (D) e
30. The Victoria memorial is situated in

(A) Kolkata (B) New Delhi

(C) Mumbai (D) Bhopal
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31. TS (RITCH! BT SPT o< SIEeiibe] 32es] FIaR ?
@A) feare (B) =20
(C) fetpa (D) @b
31. T SEfs BMSER N0 (@b SO STebe] S[HTAR S0 1Re% TR 2
@A) e (B) <=l
(C) fomem (D) @2
31. TERM §& TRATRT THWEE STRUT= YT SRl 2
A) feus (B) efigre
(C) femp (D) SEwR
31. Tr=forRad o @ & 91 T 3199 i 3RU=e Y31 § Sied & ?
A) e (B) wHIER
(C) femrg (D) SNEr
31. Which one of the following places connect Assam with Arunachal Pradesh ?
(A) Dirak (B) Baxirhat
(C) Dimapur (D) dJorhat
32. 3fazi fofes bifSr (ICS) “I_MFrs Teid (@[l SpTea a2y o[t e (@i wifes ?
(A) S H N2 (B) % I
(C) T=Abm I (D) ISt epiv Jel
32. SPTY (AT (W Afe @2 2fai Bifes 7 (w12.51.991. ) <[l Teidf zr@fece 2
(A) S H N2 (B) ™ I IR
(C) T=vm I=Fl (D) ISt &pim F==l
32. ‘3feem fafaa anfda’ (ICS) smseg foamar g smamf+ fifafim gt ganan ¢
(A) SITE=ERT AHYE (B) A=< TH §%3TT
(C) =5 §oAl (D) TSIl SETE SR
32. R fafaet dar (ICS) wie Ui i aTet 318 o Ugat itk i 9 ?
(A) SITEERT AHYE (B) 31— U s&al
(C) Zwag sl (D) TSt SHTE e

Y
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32. Who was the first person from Assam to clear the Indian Civil Service (ICS)
Examination ?
(A) Jamchonga Nampui (B) Anundoram Barooah
(C) Hem Chandra Baruah (D) Parvati Prasad Boruah
33. “Qro (RIE 93 MWW SiF [eSreq?l efsfa A M smife Jas! @
S[lopIRfReT ?
(A) TWGHE GRIRT (B) I3 AT
(C) B AZRIF SO D) Tl w2
33. “afell i 3 e 97 oo afelml wiw” — *mfmiE @2 @b @ Sorgi
AT ?
(A) WGRE TR (B) NI FACY
(C) R A2 FrE5e (D) WG S2PHIRe
33. “HHBME U™ THE 3R 3o T €7 — g sure fefirmf fenfRet ar
fegel 2
(A) SIS Shepfer (B) wrsehet Be
(C) = 3zt R (D) 3Tewd STETE
33. Term siifoehl o foram o1 wT T fop g foma <hl & STR farodia wiafsran it 27 2
(A) ST Shehferd (B) HTSHA B
(C) W SEIF e (D) 3Fes SAETEA
33. Who put forward the law of physics that “Every action has an equal and
opposite reaction” ?
(A) Benjamin Franklin (B) Michael Faraday
(C) Sir Isaac Newton (D) Albert Einstein
34. femIe Aoyl B2 <o 1 <5 ?
Q) AN (B) =M
(©) =i (D) <rEH
[EHiE
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34. &R Aol =21 ba w2
A) «EER B) =@
(C) A (D) &
34. TosTsafs Uetematy wewem A ?
(A) STt (B) &R
(€) 1 (D) EmH
34. Trarsa i qwaT IR ?
(A) s (B) TW
(C) U (D) @RI
34. What is the capital city of Zimbabwe ?
(A) Nairobi (B) Harare
(C) Cairo (D) Khartoum
35. (I AR W Trfirre SAfSF b Fiot vt viem 34127 ?
(A) (oM 3541 (B) IfeT=! <Rl (1=
(C) famtwr (D) Wt cortfmr a4t
35. N GAMC SPI oD FIo! sy Tl ol 23 2
(A) TSI 3741 (B) TR 761 (GIEel)
(©) f=we (D) =t canfm z=el
35. WX g TAmEmE EmE Al o 9 (Abhiruchi Sports Day) THM
ST ?
(A)  THIYEE 37T (B) HHTeTET S%3AT (Wadn)
(C) Temigm (D) T e w&3
35. 31m 4 ety Wo feaw foraeh STafe o omn Sirar & 2
(A) WRITER % (B) HTferen s (HadT)
(C) femem (D) T Tiiferg el
35. On whose birthday is Abhiruchi Sports Day celebrated in Assam ?
(A) Bhogeswar Baruah (B) Monalisa Baruah (Mehta)
(C) Hima Das (D) Radha Govinda Baruah

[
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36. ZTOER I A 41 &HBIR A 2 741 S FFJ Jfe1e Serems, 22651 61 @
SIS G T Fi<ee ?
A) “ff @ =4 (B) W AR
(€ R et (D) Tz G
36. ITEH T FIITHIF LB (& TS SHR AW AT 22551 *7FR CIRRET ?
@A) = et (B) M IR
(C) T T D) ifEs Gl
36. gifegen g WEifuf IR omE™ gr gaEt fegeelt (Whitley) s wam 1fH 31K
TS 7 SEGHA ?
(A)  ofofaT geft s (B) Sres R
(C) ferearen T (D) Ufee =egh
36. T TSI Wich hl &1 o YA o ol =ggectt TR, o i ariert & &9 & off I
et &, T Strar 2
(A)  fofan e s (B) iTea TrT
(C) Tergsmem T (D) Ufegd =t
36. Who won the Whitley Award, also known as the Green Oscar for the efforts
in protecting the Greater Adjutant Stork ?
(A) Purnima Devi Barman (B) Jadav Payeng
(C) Birubala Rabha (D) Rohit Choudhury
37. RrPR S S e S RpiE_ 9 ST ek w4 (2 |
(A) =qE=T 21 (a) (B) Se[=% 25
(C) =q=7 18 (D) o= 23
37. PR SR I (fers Sfpln FRETCT (i i ST efdre 2efee 2
(A) 4121 (a) (B) <125
(C) 4=118 (D) =123
37. 9d @I fHeTa Fraiens TregE! i HiFTg el e el ?
(A) @121 (a) (B) @125
(C) w18 (D) @I 23
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37. wifeTes s1firerr & ®u | fren w1 s1fter o dgd rfurfrafira femam mam o |

(A) 3=EE 21(a) (B) 319<8¢ 25
(C) 3=sg 18 (D) 3g<sE 23
37. The Right to Education Act as a Fundamental Right was enacted under
(A) Article 21 (a) (B) Article 25
(C) Article 18 (D) Article 23

38. MIFT STFIF B FIF ICPTSIS QSIP! T3! IifReT ?

A IR (B) Nund
(C) THBY TS (D) fpi
38. SILITHR (<1 DI PIF ASPTOR] Wl =it ?
A IR (B) Mund
(C) Tmey (T (D) i
38. ety forfift =moreRs o1 /9 TSisTwTE TS ?
(A) 3 (B) HHIT<
(C) =T Wi (D) fagam
38. 37V % <T@ AU fohdl ST o GLER | Tafl & 2
(A) 3 (B) HHTH
(C) s HE (D) fagem
38. Chanakya, the author of Arthashastra was a minister in the court of :
(A) Ashoka (B) Samudragupta
(C) Chandragupta Maurya (D) Bindusara

39. MRS @I S SRAIE TZW -1 GIoeT erg FleTe SIS Gl F%e 2

INIRIEE| (B) RTEA-bIR
(C) SITFI-Tl ol (D) 2 el
39. My Slerm Wiy ¢ w2Im R QRen Mol ARkaies Berna eike @
PR ?
&) - (B) =Sy
(C) ST vl ol (D) TGS

SLRC-2022/P-I/B 27 ik P.T.O.



39. TEHG fo qieTeh(" GATSH TG HR HEHIURT YT 319 aa Hame ?
(A) wEH (B) & &
(C) TRt < (D) ¥ =t
39. frferfed & & 1 gemg fo7 TTeie % TS % CRH WRA i I S 9Tl Th
31 AT ?
(A) wEH (B) & &
(C) =&l &t e (D) TS
39. Who amongst the following was an explorer to visit India during the reign of
Muhammad bin Tughlaq ?
(A) Fahien (B) Hieun Tsang
(C) Vasco da Gama (D) Ibn Battuta
40. TRAR TR SRR AT 5132
(A) TR NSNS g Tyl (B) e A Swgie
(C) =Tl AIZR vl (D) 'IJEF G T
40. iR eisifos 2fe el T -
(A) TSI AN AGR Tl (B) Sifeare! B Ty
(C) <M A S (D) TFEE ABT Tl
40. TS AR G S&1AAT ?
(A)  HIYA AT FRRIN T (B) SHIRTET SR SFTH
(C) FHEHI FTENIN ST (D) iehieh BIERIT ST
40. TS A9 I3 fhaw U ST R 7
(A) A AR T T (B) ST UFH 3T
(C) TSI TEE 3T (D) rehish TP Ja™
40. The animal Sangai is found in

(A) Keibul Lamjao National Park (B) Kaziranga National Park
(C) Namdapha National Park (D) Nokrek National Park
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41, TG A R 7L O SNICEAT 107 CE, (12 7341 O (==
Q) ~NfFEe o Sl (B) iz o< oo
(C) SISO ¢ I=M= (D) SIS < qReTI™
41, TR A2 I 95 R [y ST el S ?
(A) B G SR (B) I8 @32 oo
(C) SiF® qRI (D) SIS 43R IR
41. ‘TS @A Gt Sr@re & |
(A)  ITfREH TR STHITHE (B) TR TR R
(C) W 3T s (D) WA A THeATST
41. ge@ < = fawifoa =i s g |
(A)  ITfREAH TR TR (B) diferta™ 3R 9Ra
(C) Y 3T 5wt (D) YRA 3R FeATes
41. The Durand Line forms the dividing border between
(A) Pakistan and Afghanistan (B) Pakistan and India
(C) India and Burma (Myanmar) (D) India and Bangladesh
42. S[FoS RGI I A AGW ABRTER THIe H+AITTD &1 277, (372 615! =0z
A) LY (B) o
(C) =1 Gfe (D) M ERe
42. TS GISR SGeFe F63e 2RIl &5 7[RI ey (et 23 :
A) T (B) o
(©) TR (D) Zifr G
42, NT 39 FYI ISR -HUIETA Head gAHCE! T IhIT UG el ?
&) e (B) Ferell
(C) feefta Zict (D) STt AT
42. 9Nd H TR $-Thdl Beard gAme fohdeh fod wer Srar g 2
A) T (B) Fal 1
(C) feefa gt (D) T g
42. The National Inter-School football tournament in India is played for
(A) Durand Cup (B) Subroto Cup
(C) Duleep Trophy (D) Irani Trophy

L
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43. 1926 5T F*i F91 SPTR A& GO 14T [0 (20T :
(A) P @IETS Guos @ RINGe
B) W TR @R AT
(C) =PI &l M (@3
(D) =S A& R
43. 1926 T PTG & @ QPRI FRIFO 21 231 -
(A) =P PI-SAIETS G0 FRF FIRNGS
B) A=A P FRGE
(C) =PI &isfiel [ 71k
(D) =T sl kT
43. 3. 1926 HISAR 3Td THEA THR M fifafaa sowatit s ganan ¢
(A) EM HI-HATWed Wag oo feafies (B) < Tiierdl S+ fafies
(C) 31 urHiur forehTa Sk (D) SRgHY Tieferan sih
43. 1926 T TTfUd 3169 %1 Ugell st S B ATR ?
(A) 3TEH Hi- TR ey s fafies (B) T AR d fofaee
(C) 7= urivr farhrd ek (D) <RgH e s
43. The first private bank of Assam set up in the year 1926 was
(A) Assam Co-operative Apex Bank Limited
(B) The Gauhati Bank Limited
(C) Assam Gramin Vikash Bank
(D) Lakhimi Gaonlia Bank
44, NITI SIS [ GARCH S i 2
Q) SoT YFE! (B) oI fexa
(C) SReF fers @& e+fa (D) SRS s2aa!
44. TS SRR TSRS AWM (& T2 T 2
(A) SRS iTaEl (B) SRTed fewal
(C) SRCSH K&l IR e (D) ST 29!
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44. NITI STERTH SATRIEAST TR S 7
(A) R TTTET3 7l (B) wRaf T wfy
(C) TR, fiord Sk 31 sfean (D) 9RAt TEw afy
44, Q3 % TEAE H1 9E Fohdeh T AT 7§ ?
(A) T b ST (B) W o fer it
(C) YT TioTdl sieh o T (D) ¥R % g HAt
44. Who holds the position of the Chairman of NITI Aayog ?
(A) Prime Minister of India (B) Finance Minister of India
(C) Governor, Reserve Bank of India (D) Home Minister of India
45. FIA SIS LI S BB A T TG Pl ?
(A) JECSIR I (B) TSI SIge1 BleTs e
(C) 5. Ir&MTsi=AreTH_t (D) . SieEsia
45. T OIS (F &2 WZ ¢ oA [eldy 738 foeer ?
(A) TETTOIR AT (B) T SIa1 T ST
(C) To. FICen=sSt D) R.IR. AT
45, ity wrat Mfafim smem o =m af e @ 2
(A) FAWHTS T (B) HIeT 3TS[et shef™ 3TTSITe
(C) =TT (D) fa.3TR. 3meER
45. TEAA YA o Tg ST 3T AR Tt i 9 2
(A) TS TA (B) WIS 3T oA ITSITE
(C) . TeTeATETd (D) fa.31R. =R
45. Who is the first Law and Justice Minister of Independent India ?
(A) Vallabhbhai Patel (B) Maulana Abul Kalam Azad
(C) C. Rajagopalachari (D) B.R. Ambedkar
46. JIENTTS M40 T Wors @R s F5ef@ T71 5 T S A7 2

Q) Twie (B) =l

(C) =ml (D) foae
2ol
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46. TEEQ ™ AT AR A RIS RS 71 ! AN Gl A 2

Q) wifze (B) oIfer
(C) =M (D) PR

46. §J YL CHET IFATC ST T GHISI TR T 37a 71 g i ¢
(A) ifed (B) et
(C) w=m (D) T

46. STerTey 8 T & B firet % e STEIg e} Y fohe A1 & ST AT 8 2
(A) eifed (B) geft
(C) wm (D) T

46. By which name is the river Brahmaputra known after it joins the river
Ganga in Bangladesh ?

(A) Lohit (B) Hooghly
(C) Padma (D) Siang

47. T TR *[1 7R S <If56x i Il 5127 (FIfos 7aed @t =3

(A) IR (B) Twel
(C) itz (D) f@=
47. RIS TR A0 #fF G ARG e AR 91 @ I TR @ 7 2 2
(A) IR (B) Twel
(C) wifmies (D) em%el

47. e M (Prime Meridian) Fw@ Sefg S <e@ SRty aesn-gHme fensme
AT T TR SRR |1 gH1 7

(A)  HATHH (B) herg
(C) zIfemTeH (D) U
47. Srgw ARfea | qe TR afeem shi TR AT 78 fohelt T <l il gt i a1 AT § -
(A) et (B) =g
(C) eI (D) ™
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47. The angular distance of any place from the Prime Meridian measured
towards East and West is called

(A) Latitude (B) Altitude
(C) Longitude (D) Amplitude

48. TS FAPTIRA (FCH! I Wl Jfere! (3l 1 ?

A) TG : A (B) T : oo
(C) @O N: Ay (D) o1 - 2o

48. 0y Seairoma W (@ (@ieit % Hiieeig w7 ?
(A) Z2THEIR ;& (B) IR TR - AR
(C) «ow' P : Ay (D) fore e g

48. TR & F'U TSATSAT e 7T ?
(A) ETEgIeR : (B) STEIEHI : AT
(C) TeHIfERM : IR (D) forenfemr : &

48. Trforfiaa & @ =97 o1 gm o gafea & 2 2
(A) FTEGIERA : St (B) wRIEHR : e
(C) weHifeh : a1y (D) ferenfepa : vfn

48. Which of the following pairs is NOT correctly matched ?
(A) Hydrosphere : Water (B) Biosphere : Environment
(C) Atmosphere : Air (D) Lithosphere : Land

49. TAIR TGS @1 o%ee (202

(A) TRPIR (B) wgf

(C) T o~ (D) 5Tl o=ely
49. FNPB

(A) ¥ (B) g

(C) T e (D) TSI

L=IALE
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49. AT 37T AT |

(A) < (B) sremRmHn

(C) TSl g (D) Tieft g
49. T gATH AR :

(A) WRER (B) e

(C) 3= vdd (D) =FTSTA
49. Tsunamis are caused in the

(A) Oceans (B) Deserts

(C) High mountains (D) Deep forests

50. SIS (T 2P SlTo" STl 1 B 2

&)  efefireges sred (B) 3Zfs 1oz
(C) T sIreg (D) SHLZEES 51T
50. SRS SlTSCEe (i el Seprel a1 27 2
) efffiege sireg (B) TEAfs a1Tem
(C) T olTog (D) SIRHALAZFES 51TSF
50. &9 GHGATSE! TIATS T SIe ?
A) o= i gIGaTS (B) =rfit st gegeTs
(C) e gags (D) STerT 3R GIGTS
50. W W fohd TehR < TAIhaa 1 STTEXYT TohaT ST & 2
(A) afafferes Aeaa (B) gl wAiehaa
(C) < wrehaa (D) @&t SArehe
50. Which form of Democracy is followed in India ?
(A) Representative Democracy (B) Presidential Democracy
(C) Parliamentary Democracy (D) Participatory Democracy

51. JWIRE O FIF JPRS 7[1 2! T=0R :
Q) iz foey (B) Rferm e
(C) TIME e (D) IS forew
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51. IDIPICET Ui RITT #[Cel 3T 2 -
(A) Iz “Tmlo (B) e omfe
(C) FIRR ~mhs (D) IS “afS
51. TG WE T T SETEH BIAR GRIG! AT g1 ?
(A) UESH @If (B) AT | Al @I
(C) T@aTit @t (D) Ta @
51. I % HTEH-YeH hl ITef T (g1 o f&HT SATII) i shal TR
(A) TS oTTedt (B) fafmr somreft
(C) ek srorreft (D) T SOt
51. The ancient tradition of exchanging goods for goods (trade without currency)
is :
(A) Paik System (B) Barter System
(C) Banking System (D) Rayat System
52. “ARI-M-F AN &I Qs AKEEITS (i TS A= 5 a1 27 ?
A) gk (B) drerzEe
© fr=m (D) Sl
52. RIS 4y “TiF I G ARRETS (&ie ST AR F1 =7 2
A) g (B) ez
() fr=m (D) S
52. [T ST 9H1G “TA S 01 @ SO 56 Tgl 3716 qiiEl ?
(A) ST (B) Tw&H
(C) feer (D) 3ifewn
52. Tftg WIS “grel STE) AT SR W 58 T § I Sian 8 7
(A) wE (B) TsRrM
(©) femm (D) it
52. The famous dish “Dal Baati Churma” is typically served in the state of :
(A) Punjab (B) Rajasthan
(C) Bihar (D) Odisha

L
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53. TICERI Sfgna soe a6 2! 2/l 6 Jfet el 1 2
Q) wrIfTeER (B) Fifefterm
(C) R (D) e[
53. IS AR (IR G 1 &A1 R -
(A) SETERR (B) IFftorTz
(C) TPt D) ez
53. HHER fFHERE S HARGRE! 91 8 ?
(A) nfeErd (B) whifHar™
(C) e (D) efee
53. B Ui Sl @M dTel SIq37i ol had & —
(A) SfeErE (B) HIf-aRd
(C) e (D) el
53. Animals that feed on green plants are known as
(A) Omnivorous (B) Carnivorous
(C) Cannibals (D) Herbivorous
54. SROR TR (@IFY SPHe TEI-7 SRS AR ¢ GQeEon SLw A FY
[ ] 1 07 ?
(A) TV P (B) i< P!
(C) oIz S (D) = <Pt
54. ORISR MY IR 7FICe Teg+d ©iRTes ARG ¢ ool SR &) Faexhro
eMPTCR i e el =R ?
(A) T P! (B) 1% Sepidl
(C) B STl (D) < ST
54, WRATR Gl s wifEn F1-ams yRat g 3T gRee 3T-e B! SRy ez
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54. WA Gfaum i fopa STgEet § qaior aRd o Ugrel 3R nfeardt &=l & for Tt wemed

CARCRIERC T IRIe
(A) =t I (B) el g
(C) el g (D) el ST

54. Which schedule of the Indian Constitution has made provisions for
autonomous administration for hills and tribal regions of North East India ?

(A) Sixth Schedule (B) Fifth Schedule
(C) Eighth Schedule (D) Ninth Schedule

55. SO TRYT B RIS GFIen! = AfRE 712 ?

(A) PN (B) TOEHLS
(C) ol (D) w=Ifbefr
55. foTe Safe @R * b SRS MR eR[=E 8 ?
@A) e B) srereifEs
C) T« (D) TIeTSIiEs
55. TR §¢ HIGE3T HRATR HfSTaf T SIierme 1= 961 ?
(A) TERM 3 (B) g9 gummR
(C) o (D) THSRETRTR
55. Teferiga o @ s @1 316 WK o TfIYT Sl S&dTaqT | T8l 8 2
(A)  gEfER (B) rhditeh
(C) @ (D) FHTSEE

55. Which of the following words does not appear in the preamble of the
Constitution of India ?

(A) Secular (B) Democratic
(C) Federal (D) Socialist

56. T (Y ©lFets 2R I 71(fas I T2
(A) TEA (B) RIS
(C) wIaiferze (D) e
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56. T (7 ST LA (@ 2R TIfer e 2
Q) T (B) TR
(C) Sl () REIIRE
56. YRAA! Sfge i f&m eumrrean gret gaman ¢
A) = (B) wfegept
(C) FAHIMEH (D) ==
56. WA 3 foTe i1 61 e w11 FHafass cu A a1 g ?
(A) ¥ (B) wfegent
(C) AHMA™ (D) &9
56. Which country is the biggest exporter of asafoetida (hing) to India ?
(A) Spain (B) Mexico
(C) Afghanistan (D) Russia
57. SRS FRIL ST *RGTT GorilEn (2 “Ivr o1 & JGT ?
A) Mo (B) o ST FMIT
(C) ez (D) Tqrett
57. “RIGACHE SIRUS (I ey “ole™ %A FIG” G GG = I ?
(A) 6 (B) oY @R IO
(C) A&z (D)
57. TRERCEMTIM STE™ WRAM §¢ TSI STATS 311 e ‘g™ 37 Higl” ?
(A) i (B) S IR H1eHR
(C) TSTEa™ (D) T
57. “Mgd 374 Sl YN o hH T o Tied hl ST 2 ?
(A) e (B) g 3w
(C) TIEIH (D) HA
57. “God’s Own Country” is the tagline for tourism of which state of India ?
(A) Karnataka (B) Jammu and Kashmir
(C) Rajasthan (D) Kerala
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58. 712 B o{feT5 GHITT! 2= (T JeTS SRES ?
(A) =P (B) TR
(C) =eliveT 2™ (D) %9
58. Teasd “{foml GO (I AT SES ?
(A) =M (B) TR
(C) f=FelIbeT 2w (D) =
58. |T-FTIATR Yo Tehrefirn s« sl 31ma ¢ 2
(A) FAEH (B) wHermerd
(C)  STuITEd YW (D) g
58. IR Y gfeTd 3TehIcH! fopd T & a8 2
(A) Em (B) WeTe™
(C) 3T e (D) =RTR
58. Which state is the North Eastern Police Academy located in ?
(A) Assam (B) Meghalaya
(C) Arunachal Pradesh (D) Manipur
59. FICHE SIS e GiRoleT SRR Fol 4o (ISTHINT 'S SAES |
A) iR B) e
(C) DlAfRel (D) SIREE
59. JITDR BPTRCE T Y3 Gore] SR [RWieR] MISIIEs (IR S[Es ?
(A) =TS (B) @RETR
(C) T D) woizeb
59. fra-femm@u™ (Counter-Insurgency) 310 g™ TR e@sl (Jungle Warfare)

HUIETfer 31 foem e sd SR € 7
(A) FTESIA (B) wmeis
(C) ufsu (D) T

Y
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59. TisiR@ & Counter-Insurgency and Jungle Warfare School &l W @ ?
(A) SIS (B) i3
(C) wfeu (D) &

59. Counter-Insurgency and Jungle Warfare School is located in Mizoram at

(A) Aizawl (B) Lunglel
(C) Serchhip (D) Vairengte

60. GG JFFE IW BIFI” T 4o [T F0F, (S0 (S8 (FITIT (7S SR ?
(A) TR (B) =
(©) FeEfE D) =A™

60. & IfE IM B W@ E@m FET ©E@ @12 IS @I G0 0 ?

(A) Tt B) AfFEe
(C) FeRIG D) eI
60. fc HE G “TTeh1” ATd oF ¢ WTATG], ITEAT of G ¢ GG JTHA ?
(A) Tt (B) drfered
(C) eifen (D) e
60. e IS SAfh “Trpt” H Aied hidl 3, ol SAfh ferg e A B 7
(A) U (B) difera™
(C) Fwfea (D) wie
60. If a person is transacting in “Taka”, which country the person is in ?
(A) Nepal (B) Pakistan
(C) Cambodia (D) Bangladesh
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61.

61.

61.

61.

61.

<51 IS CFEF A9 15 6.f. =i Fifer 150 .f40.2 | 3 F9e T Ifncs Simece Fif
1%@%{%@@,@@@?@%@@%2’6
(A) 50 .1 B) 60 G.f.

(C) 70 ®f. (D) 80 (5.1.
GG STerweEd 9f 15 cm GF GFaTe 150 cm?2 | I JTSrHAng o ePiifee e

S FifeT 2A1ARF CFaTa (A 1% ¢ 1S I 2 O Tgel AP 204

(A) 50 cm (B) 60 cm
(€) 70 cm (D) 80 cm
o8 TREAH AEgms 15 8.4, 30 9 geemsfrn 150 @.f1.)2 | Iie o emaesat

TN o geATsig! T gearsifgs %FW,WWWW
Tormren S8 Sme 7
A) 504, (B) 604.fa.

(C) 70%.fa. (D) 804.fa.

Tsh I 6l owarg 15 At 3R &bt 150 it aft B | afe &bt 1 et I TS
TR H &A% h %gmwmm,?ﬁwW@m:
A) 50 & (B) 60 &t
(C) 70%H (D) 80 &t
A rectangle has 15 cm as its length and 150 cm? as its area. If the area is

increased to 1 3 times the original area by increasing its length only, the new

perimeter will be

(A) 50cm (B) 60cm
(C) 70cm (D) 80 cm
SPACE FOR ROUGH WORK

Y
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62. TTafeTe ST=g (I =R 727 MM 42 — x — 2 T GBI TLAW ?

@A) x-4) (B) (x+5)
©€) x-2) D) (x+4)
62. RS @G 92om A 22 — x — 2 G TLAWE 2
@A) x-4) (B) (x+5)
©€) x-2) D) (x+4)
62. TERTH F&3T 2 — x — 2 Toeremer afef aeemefi (factor) ?
A) x-4) (B) (x+5)
©€) -2 D) (x+4)
62. TfcTiad o ¥ 959g 42 — x — 2 1 T UGS HH A1 & ?
A) x-4) (B) (x+5)
©€) x-2) D) (x+49)
62. Which of the following is a factor of the polynomial x> —x — 2 ?
@A) x-4) (B) (x+5)
©€) x-2) D) (x+4)

63. 7,12,5,1,4,2,1,12,17, 16, 1, 5, 8 =0 ITH (2R

A 7 B) 4

€ 8 D) 5
63. RIIFN

7,12,5,1,4,2,1,12,17,16, 1, 5, 8

g Ao :

A 7 (B) 4

(C) 8 D) 5

SPACE FOR ROUGH WORK
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63. RS B B ToRY At fogT ¢
7,12,5,1,4,2,1, 12,17, 16, 1, 5, 8
@A 7 B) 4
©) 8 D) 5
63. @ 7,12,5,1,4,2,1,12,17,16,1,5, SHIHEA ] :
A 7 B) 4
©€) 8 D) 5
63. The mean of the data series
7,12,5,1,4,2,1, 12,17, 16, 1, 5, 8
@A 7 B) 4
©€) 8 D) 5
64. 0.003 + ? = 0.3 TAFINGR XA ©5F (2) T efezf*re Fa1 ARG 2= :
(A) 0.01 (B) 1.0
(C) 0.0001 (D) 0.001
64. FF9 0.003 + ? = 0.3 9 SrHRIS 2@ (?) B2ba 2 @ 7l w1 -
(A) 0.01 B) 1.0
(C) 0.0001 (D) 0.001

64.

MR TS 36 AT G SRATEH @ 71 SHSTST Sl grme ?
0.003 +?=0.3

(A) 0.01 (B) 1.0
(C) 0.0001 (D) 0.001
64. THH 0.003 = ? = 0.3 T TIaTEh 05 (?) I ATqEATIId L el T 2
(A) 0.01 (B) 1.0
(C) 0.0001 (D) 0.001
SPACE FOR ROUGH WORK
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64.

The number that replaces the question mark (?) in the equation 0.003 + ? = 0.3,
1s :

(A) 0.01 B) 1.0

(C) 0.0001 (D) 0.001

65.

65.

0.5 F.f. @@ Fe A6 ¥ «FIRS AT OF I 1.28 B[, WHRT GG fegs a1l
TR = 23 | GBS TGS TRl P Sed A4 T2

A 12 B) 10

(C) 8 D) 7

0.5 mm *F G35 T *D IFIR SIS FF 1.28 em N 96 T 7790 F1 27 |
SR SIS TR :

A 12 (B) 10
€ 8 D) 7
65. 0.5 fir.fi. T M1 TE e foeTsEt et ot ST 1.28 9., SR T /i gEt 3T
WA S1G1 | TG 3ATY WIATHA] TeE SRR M1 g ?
A 12 (B) 10
€ 8 D) 7
65. 0.5 T, <1 WicTg < TS hl T 3fic Sl TR-TR WIST AT & qlieh DR 1.28 Tl o Th
B 1 W e 1w | fetaet i ey gen g :
A 12 (B) 10
€ 8 D) 7
65. A sheet of paper of thickness of 0.5 mm is repeatedly folded to fill up a gap of
size 1.28 cm. The required number of folds is :
A 12 (B) 10
(C) 8 D) 7
SPACE FOR ROUGH WORK
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66. 1.5 (P (I *1S1¥] “AfGwI 7.5 AN M 2’7 2

(A) 0.25% (B) 0.3%

(C) 0.5% D) 0.75%
66. 1.5 (e T *S[H 7.5 & ?

(A) 0.25% (B) 0.3%

(C) 0.5% D) 0.75%
66. 1.5%.55.1 95T SrEer 311 7.5 UMW ST ?

(A) 0.25% (B) 0.3%

(C) 0.5% D) 0.75%
66. 1.5 Teratl o1 fera wferd 7.5 oM 8 2

(A) 0.25% (B) 0.3%

(C) 0.5% D) 0.75%
66. What percentage of 1.5 kg i1s 7.5 gm ?

(A) 0.25% (B) 0.3%

(C) 0.5% D) 0.75%
67. ﬁﬁ%z%iﬁ,m@%ammz

@ 5 B) 3

©) 2 D) 1
67. W%Z%@,W% T ;

@A 5 B) 3

© 2 D) 1

SPACE FOR ROUGH WORK
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6a + 2b

67. —gﬁ%:%,mmﬁmsﬂé@m’?
A 5 (B) 3
©) 2 D) 1
67. ﬁ%z%,?ﬁ%?ﬂm%:
A 5 (B) 3
©) 2 D) 1
67. If%=%,thenthevalueof ii%ggis:
A 5 (B) 3
©) 2 D) 1
68. & 2 5.1 /<51 (@91 T 7191 Feieat AR S Ford 710 3 6.4, /<1 (@91 2te1 Tofs
2 | S2-AR R 2fewice 7 (961 5 Thl TR A =, (S8 (SS9 71 *[l
Fe0 AR (2R
A) 4f5.M (B) 5 ...
(C) 6 .M. D) 7=.:.
68. I OF 9 (AT OF ME@ &ifs To1 2 5.4, oo 7% 7 3R &ifs 957 3 6.1

OOl 0 R W | I R @G TS F0e O 5 91 T #AI0E ©E ACEHCES
fvieTT a2 Soae e 1A
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68. T a1 TR wmEatm 2 fBfuaer 7 omgl S (Speed) ot IR
3 fe.fy. ey ety S HBfE | o gfe TR qEeEERE 5 ww dEe, fof
HUEHTTAAT 7 Fhr™ 98 M= ?

(A) 4 Ts.M. (B) 5T
(C) 6fw.fu. (D) 7fw.f.

68. T 379 TR T 2 Terwi/erer <ht e & 31ue ferermer™ <iran 2 3R 3 fopefi/eier <t ifa & eitear 2 |
fe o8 G A H 5 = AT 7, dl 38k foranerd SR ITh W H A= hIgli 2 :
(A) 4 Tt (B) 5 feprft
(C) 6 feprll (D) 7 Ty

68. Rajen goes to his school from his house at a speed of 2 km/hour and returns
at a speed of 3 km/hour. If he takes 5 hours in the entire journey, the
distance between his school and his house is :

(A) 4km (B) 5km
(C) 6km (D) 7km

69. 5l T Y MM 20z 96 T5.[.2 | TR Sien 29 :
A) 817.[.3 (B) 277.[.3
(©) 36w.R.3 (D) 64 .[.3

69. G TICHCET TG PO 96 T2 | TCwa boF Torzrdd
(A 81wLf[3 B) 27wLRS3
(C) 3613 D) 641f.3

69. T A 1 T forgani @it o1 Smew 96 (3.f1.)2 | § amER @i 3 SHEt S ?
(A s1a.fm.3 B) 2783
(C) 36u.fa.3 D) 649.f7.3

SPACE FOR ROUGH WORK

Y
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69. T T I el TEII &Ahel 96 W2 R | T 1 TG @

(A) 81w (B) 27 %ufs
(C) 36w (D) 64 3fs
69. The total surface area of a cube is 96 cm?. The volume of the cube is :
(A) 81cm? (B) 27 cm?
(C) 36 cm? (D) 64 cm?

70.  FTfoTire ©aies =T (I SBIRSCF Tles ?

11 12 13 14
12°13°14° 15
14 13
A 15 ® 14
12 11
© 13 D) 75
70. e SaAeeleR W @It 326 ?
11 12 13 14
12°13°14° 15
14 13
A 15 ® 14
12 11
© 713 D) 15
SPACE FOR ROUGH WORK
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70. TERETE EHEHRM To-TE §6 SHETe WialsT e ?

11 12 13 14
12°13°14° 15
14

A 15
12
© 13
70. fefafgada s o imagesg seig ?
11 12 13 14
12°13°14° 15
14
A 15
12
© 13

(B)

D)

(B)

D)

13
14

11

13
14

11
12

70. Which of the following fractions is the largest ?

11 12 13 14

12°13°14° 15
14 13

A 15 B 1
12 11

© 713 D) 79
1 1

71. zri%x+;:4§§r,c—cw 2+ ERIDEECE
A) 10 (B) 12
(C) 13 (D) 14
SPACE FOR ROUGH WORK
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71. zri%x+%: 4§§I,Wx2+% 9 T
A 10 B) 12
(C) 13 (D) 14
71. _gﬁx+%=4, x2+% 5 9 3 s
(4) 10 (B) 12
(C) 13 (D) 14
71. ZIﬁx+%: 4,Fﬁx2+% HIAFE :
(4) 10 (B) 12
(C 13 D) 14
71. Ifx +i= 4, then the value of x? +% s :
A 10 B) 12
(© 13 D) 14
72. 12 (5.F. 977 IR TR fags @Gk Shifer tatm
A) 12+/3 .2 (B) 24+/3w.f.2
(C) 30~/3.f.2 (D) 36+/3w.f.2
72, Gl IR fqgred A2 Wiel 12 T1LR. =@ O ohazeeT
(A) 124/37[.2 (B) 24+/371.f.2
(C) 3043712 (D) 36+/3 7.2
72. 12 9.7, €U TAT G @Y ArERA™ Y gseArs s Sue S ?
A) 12-/38.f.2 (B) 24+/39.f.2
(C) 30~/3®.fu.2 (D) 36+/3%.f.2
SPACE FOR ROUGH WORK
Ok 10]
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72. e GHETg B, raent yyoit <Y oras 12 St R, 3 figst o St B
(A) 123 @2 (B) 243 @i
(C) 30+/3 8?2 (D) 36+/3 a2

72. The area of an equilateral triangle with the length of the side of 12 cm 1s
(A) 12+/3 cm? (B) 24+/3 cm?
(C) 30+/3 cm? (D) 36+/3 cm?

73. TR IR e ey I5{pheq Bizerq Wive FREE @-Sl FEe | 2foth! bizem
i@ 7t 10 .M. | SARFIRG! Aeg 2.4 . &% 2[ote 1.6 . | IR e@ee @[ 5o
TR TR :
(A) 184 (B) 244
(C) 284 (D) 384

73. TR OF ANEER @ 9B GifeT @I SRIfine FICo AR T | &TOBP6 bifeTd &l
10 1AL | rErRfG 2.4 . 7Y @3 @3 &g 1.6 W, | 97 Fofb Gife eiere ?
(A) 184 (B) 244
(C) 284 (D) 384

73. U9 3 MEt Em T T gt s aed (Tiles) BH1 ARG | ThHe diserd =
AT 10 8./, | fiem T T3 2.4 . Mera 3w 1.6 1. e | Wt TeE qieE
AT ?
(A) 184 (B) 244
(C) 284 (D) 384

73. T 310 TEIE o I HI AR TG U TS B I AT ST T & | T T5et hl ol
10 T B | T 2.4 Y. &l 31K 1.6 . =<t 7 | T =1 fopat ergett it Stragerehan gt ?
(A) 184 (B) 244
(C) 284 (D) 384

SPACE FOR ROUGH WORK

Y
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73.

Ravi plans to tile his kitchen floor with square tiles. Each of the tiles has side
of 10 cm. The kitchen is 2.4 m long and 1.6 m wide. How many tiles will Ravi
need ?

(A) 184 (B) 244

(C) 284 (D) 384

74.

74.

74.

74.

74.

& 02 T 2,000 ARG Q3 AR T B | A (08 *RINEE 20% SF 10% I
5! (22 71 (T, (ST (98 “IIRYG! T FCE [Kpaiel 5 AR Blaes ?

(A) T1,440 (B) 1,400

(C) %1,540 D) % 1,500

4T FE T 2,000 B! TS s Gpi “1121 &7 6 | I G IANFE 20% 9% 10% BT
AR S ARG &) ©IC TS BIpl ARG F0S 201 2

(A) T 1,440 (B) % 1,400

(C) %1,540 D) 1,500

% 2,000 T 984 THT T8 HrETE! 99 geeT ar | feRn Jfe st 20% SR 10%
™ A, 31ea forn wratt Sa=at 99 gt ?

(A) T1,440 (B) < 1,400

(C) %1,540 D) % 1,500

U et 4 T v wiier fSEehl gfga diwa 2,000 off | 3R 3™ 20% IR 10% Hi
AR g e fietd) &, @ 36 7@ o ford feha mam feam 2

(A) T 1,440 (B) % 1,400

(C) % 1,540 D) % 1,500

A man purchased a fan which had a printed price of ¥ 2,000. If he received
two successive discounts of 20% and 10%, then how much did he pay for the

fan ?
(A) T 1,440 (B) %1,400
(C) 1,540 (D) 1,500
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75.  TRIC 0! 369 JPRE SIS 2 : 3 | QYD Bl SeoIT® (202 :
A 3:2 B) 4:9
©) 9:4 (D) 2:3
75.  v3(b J0eA AP SIS 2 : 3 | IS 3[04 (el SIS (S :
A 3:2 B) 4:9
©€) 9:4 (D) 2:3
75. T GG TRITEHRA EATS 31 2 @ 3 AT S T gaerrg i E2mg 311 S92
A 3:2 B) 4:9
©) 9:4 (D) 2:3
75. < i ot FAIswnati T U 2 : 3 2 | I o Sl ol STUT B
A 3:2 B) 4:9
©€) 9:4 D) 2:3
75. The ratio of the radii of two circles is 2 : 3. The ratio of the areas of the circles
is :
A 3:2 B) 4:9
) 9:4 D) 2:3
76. <5! “Iiefbe =0l Fifoe FwEE 1, 1, 2, 2, 4, 4 bfee 3 =i w1 APNSBE! 9k

2T SR 2 52 S/ @S ik TSIl (2R :

1 1

@ 35 ®) 3

2 1

© 3 O
SPACE FOR ROUGH WORK

Y
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76.

76.

76.

76.

G35 T H W IWEH 1, 1, 2, 2, 4, 4 fofze 31 @iz | o G Fowe 2
CRlGISIMIERICIOIR

A) (B)

Wi D=
= o

© (D)
T <TrREM e 7AigisTE B 1, 1, 2, 2, 4, 4 T ™ € | TseE! T98 TReEsAr 2 MH1
BICIEEICIRIERIBICIBRICICIEE

(A) (B)

©) D)

Teh U1 & 6 HeTeh] WA 1, 1, 2, 2, 4, 4 3Afhd & | I i Teh SR hehd T 2’ HW A
?ﬁmﬁw%:

Wi D=
B = o

(A) (B)

Wi DN
= o

©)

A Die is marked with 1, 1, 2, 2, 4, 4 respectively on its six faces. The
probability that ‘2’ will face up on a single throw of the Die is :

D)
(A) (B)

©) D)

Wi D=
D= o

(ab?)? x (3 ab)*

77. q-ﬁ;_( a=bWa=3§§[, QCIS] 9X9(82b2)3 qmm
A 9 B) 1
1 1
© 3 O %
SPACE FOR ROUGH WORK

SLRC-2022/P-I/B 54 e



77

71.

71.

71.

(ab?)? x (3 ab)*

. Ia=beRa=3, W@ 9 x 9aby? S IM:
@) 9 B) 1
1 1

© 3 D) o

(ab?)? x (3 ab)*

g‘:\aa:bma::_)), 9><9(a2b2)3 ﬁ%ﬁﬁmrﬂ?
A 9 (B) 1
1 1
© 3 M) o
2)2 « 4
Wa:baﬁtazs,aa(agzg(a(i%? HIUAT -
A 9 (B) 1
1 1
© 3 M) 5

(ab?)? x (3 ab)*

The value of 9 x 9(a’h?? whena=banda=31s
@A 9 B) 1

1 1
© 3 O

78.

AR I P 579, (08 AR FRRET6N 49 “Af1e (2%

ol TR 5% I IS AEIR X 6,000 €T 31 | AW (98 qNIRT T IR 4

(A) % 6,300 (B) %6,030
(C) %6,250 (D) %6,025
78. WIS JIART 5% e YA 2@ X 6,000 5iFl 49 T | AW G7 Gp7 o 75+
LRI SARCNY FHCS BRI S O TS Bis! Te 203 2
(A) 6,300 (B) %6,030
(C) %6,250 (D) %6,025
SPACE FOR ROUGH WORK
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78. WA SERIN 5% &R T 6,000 TR Y9 BN AR | I forit g o e
et g@ = foren wmn, fafs g of fee sns 2
(A) 6,300 (B) 6,030
(C) 26,250 (D) 6,025
78. HANS 4 5% Jfd o8 Y e H HIURY &I W 6,000 3TN fTT | 3R 98 Tk e & 3Ad d
T T T T BT T HHSAT T &, Al 39 Toha1 TR T YA HEAT T ?
(A) 6,300 B) 6,030
(C) 6,250 (D) 6,025
78. Manoj borrowed a sum of ¥ 6,000 on simple interest at the rate of 5% per
annum. If he decides to pay the entire amount at the end of one month, then
the amount he needs to pay is :
(A) 26,300 (B) 6,030
(C) 26,250 (D) 6,025
79. IWa>Dh, (a>0,b>0) T, (O3 RS GG Sfe 7oy ?
(A) —a<-b B) —a>-b
(C) a<-b D) —a>b
79. IWa>Dh, (a>0,b > 0) 20 WE @S @G 7o) ?
(A) —a<-b B) —a>-b
(C) a<-b M) —a>b
79. dfca>Dh, (a>0,b > 0) MM Fa WL AT ?
(A) —a<-b B) —a>-b
(C) a<-b D) —a>b
SPACE FOR ROUGH WORK
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79. Aka>b,(a>0,b>0) A=A III AT TR ?
(A) —a<-b B) —a>-b
(C) a<-b D) —a>b
79. Ifa>b, (a>0,b>0), then which one of the following is true ?
(A) —a<-b B) —a>-b
(C) a<-b D) —a>b
80. —[—{— (1) (-1}] — [ 4= (1) (1)} T Ferefrr <patt |
A -2 B) -1
©) 1 D) 2
80. W fifr=
— [+ D (D] - [ D (2D
@A -2 B) -1
© 1 D) 2
80. —[-{- D) (D} — [ (1) (=1)}] w37 ST 2
A -2 B) -1
©) 1 D) 2
80. —[—{- (1) (-}] — [~ {= (=1) (—1)}] ST A @ R |
A -2 B) -1
© 1 D) 2
80. Find the value of
— [+ D (D] - [ D (-D]
@A -2 B) -1
©C) 1 D) 2
SPACE FOR ROUGH WORK

Y
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81.

81.

81.

81.

81.

7 G IPTT 9Bl JeF AARBINE a6l I9fTFq 5107 FRAGT 929 I 2 |

PR T (&K 2T (1€ GRI, =2—72)
A 7w (B) 11®.f.
(C) 15w (D) 22 .J.

7 cm IR @16 Jeed “AfRF 7 T G0 39t o151 a1 297 | I9f o7 i =i

(wn=2)
A 7@ (B) 11 & f.
(©) 15 @ (D) 22 Ff.

7 A.f0. wEE T A SEA SeE g g s onfee | ¥ wify st
ARG g ? (n = %w)

A) 79 (B) 11a.f.

(C) 159.f. (D) 229.fu.

7 ot s At U g 1 ik < ovaTs k1 S U & o o fote foRen ST @ | et
BB TR (= 2

A) 7@ (B) 11

(©) 15 (D) 22 &t

The circumferential length of a circle of radius 7 cm is used to construct a

22
square. The length of the side of the square is : (Take n = 7.)

SLRC-2022/P-I/B 58 e

(A) 7cm B) 1lcm
(C) 15cm (D) 22 cm
SPACE FOR ROUGH WORK



82.

82.

82.

82.

82.

T Y51 TR S1.ALQ. S .37.3. IAFC 25 o= 2573 | I IRYGH «bT 27 27 |
(STE LB AR 2] :

A) 2373 (B) 2572

(C) 2273 (D) 2372

w2[B ALY o178 @R .37, T 25 3% 25 - 73 | T 12 oy @plG ARyl 27 =W O
M

(A) 2373 (B) 2572

(C) 2273 (D) 2372

A 3R ¢.3m.Er. (HCF) 31 g.37.41. (LCM) 31 %I e 28 31/ 2573 | o
T SRNHTH TSR Sf¢ 27 SR, 3Teal e HFMET |7 ?

A) 2373 (B) 2572

(C) 2273 (D) 2372

T T3t 1 HCF 3T LCM shAwn: 25 3R 2573 ] | 3fg o) weaii & & weh & 27 2,
i TR

(A) 2373 (B) 2572

(C) 2273 (D) 2372

The HCF and LCM of two numbers are 25 and 2572 respectively. If one of the
two numbers is 27, then the other number is

A 2373 (B) 2572
(C) 227 (D) 2372
83. AMi\/1296 =2, TS x IATZT :
@ 5 B) 6
<€ 7 D) 8
SPACE FOR ROUGH WORK

[
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83. AMA[1296 = 2% T ©(F x 4T T 2 :

A) 5 (B) 6

© 7 D) 8
83. Wfe/1296 = x2, x AW AT ?

A4) 5 B) 6

© 7 D) 8
83. lc\/1296 = x2, ql x 1 HH &I :

A) 5 (B) 6

© 7 (D) 8
83. 1If4/1296 = x2, then the value of x will be :

A) 5 (B) 6

© 7 (D) 8

84. RETS @I @F WA T 800 € T FICE S AN Geawca [ier TR ATS #req
“ffeiel Rt 20% 9 5T =1 | AETRE [y e :
(A) %1300 (B) %1200
(C) 1100 (D) % 1000

84. s qfs AANET T 800 TIFT ICol T (A [ Yo7 fefare 20% =1e @ee [ e
et | Aty Rara o1 2t
(A) %1300 (B) % 1200
(C) 1100 (D) % 1000

84. TafSa 31 W@ gar@t 3 800 31 ST IR fb sEt 3TRae s@ATE BETEAT Sara fafy
WHRAETRT ST AR S 20% SR | s G SR S8q1 58 2

(A) % 1300 (B) % 1200
(C) %1100 (D) % 1000
SPACE FOR ROUGH WORK
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84. fafsa = T a%g I T 800 W TN 3R 37 I%] I 39 YR a1 foh T 35k forshal oot
20% B | TEg T fIsha oI 2
(A) T 1300 (B) %1200
(C) %1100 (D) %1000
84. Bijit purchased an article for ¥ 800 and sold the article such that the gain is
the 20% of its selling price. The selling price of the article is :
(A) 1300 (B) %1200
(C) %1100 (D) T 1000
4 3 1 ,
85. ﬂﬁf‘:g +( 10) x+ 152, (O x—J A P 27 2
A 2 B) 1
© -1 D) -2
4 3
85. ﬂﬁf‘:g +( 10) x+1 2 O{ x @I I PO 2(J ?
A 2 B) 1
© -1 D) -2
4 3 1
85. dfcz +( 10) x+ 15, et « 7 aram =1 9w 7
A 2 B) 1
€ -1 D) -2
85. H&%+( 13()) x+1 , 1 x 3T T 1 ITT 2
A 2 B) 1
€ -1 D) -2
4 3 1 :
85. If 5t ( 10) x+ 12 , then what will be the value of x ?
A) 2 B) 1
< - D) -2
SPACE FOR ROUGH WORK

[EE
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Q. No. 86 to 88 : Choose the correct ANTONYM for the given word :

86. Harass
(A) Irritate (B) Comfort
(C) Molest (D) Seduce
87. Gorgeous
(A) Magnificent (B) Dazzling
(C) Beautiful (D) Dull
88. Bloom
(A) Wilt (B) Revive
(C) Plant (D) Dry
Q. No. 89 to 91 : Choose the correct preposition :
89. I always get nervous when I have to speak an audience.
(A) 1n the front of (B) 1in front of
(C) 1infront of (D) affront of
90. Submit your assignments ten days of the announcement.
(A) within (B) by
(C) with in (D) before
91. No student or teacher should be this famous reference book.
(A) with (B) without
(C) given (D) despite
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Q. No. 92 to 93 : Choose the correct option :

92. A number of vehicles travelling together under escort for the sake of safety is

called
(A) Regiment (B) Convoy
(C) Escort (D) Cavalry

93. Love for one’s country is known as
(A) Jingoism (B) Patriotism

(C) Nationalism (D) Expatriate

Q. No. 94 to 95 : Fill in the blanks with correct options :

94. A gifted scientist, Newton some of the most fundamental laws in the

history of science.

(A) keeps discovering
(B) who discovered
(C) discovered

(D) kept from discovering

95. We are all worried about the condition of the company.
(A) monetary affair (B) financial
(C) finance (D) monetary

L= LS
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96. Choose the correct order to complete the sentence :
I.  relationship between two or more
II. people, places or things
III. a relationship in space or time as a logical
IV. prepositions are used to show
A IL I IV, I B) IL IV, I, III

© IV,ILILII D) IV, 1L ILI

97. A group of lions is called
(A) Herd (B) Pride

(C) Pack (D) Bunch

Q. No. 98 to 100 : Choose the correct SYNONYM for the given word :

98. Pompous

(A) Humble (B) Simple

(C) Haughty (D) Unpretentious
99. Timid

(A) Courageous (B) Brave

(C) Coward (D) Bold
100. Virtue

(A) Vice (B) Morality

(C) Dishonesty (D) Unworthy
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101. I™ 4532986 ARG STEDGILF 6141 2T, (S0 T« IARE[SS AP SF0H! (202

A 5 B) 3
© 2 D) 9
101. 3% 4532986 SRAMHCF KA I (ATF @71 AR ©& @ T 2 AR F 71 -
A 5 B) 3
©€) 2 D) 9
101. 4532986 @t 3o fotlisatt 5/ — IFTHTT e JRATRG! ARTRAE TST ?
@A) 5 (B) 3
©) 2 D) 9
101. Ife G 4532986 i Ie7¢ a1 ST, a1 98 37 W1 U fRufe 7 s 2, 98 2
A 5 B) 3
€) 2 D) 9

101. If the number 4532986 is reversed, the digit that does not change its position,
1s

@ 5 B 3
© 2 D) 9
102. 331G} TR GiINea et 3¢ FEfafrs @GR! *=re ez =g ?
(A) MAN (B) LAME
(C) NOTE (D) KILN
102. 0 SRS =M @R N (I *=is SREG! I Nd! fo 360 TG TR ?
(A) MAN (B) LAME
(C) NOTE (D) KILN
102. TR 56 - WS 3Te TS ST@HTEAT 1 TSRYR 316 9 Hi-ie! gREis 81691 € |
(A) MAN (B) LAME
(C) NOTE (D) KILN
102. Frerferieaa o @ fore vroe  FUSh SoiaTeT % &) oo Aoy e E 2
(A) MAN (B) LAME
(C) NOTE (D) KILN

102. Which of the following words contains both of the two middlemost letters of
English alphabets ?

A) MAN (B) LAME
(C) NOTE (D) KILN
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103.

103.

103.

103.

103.

ol seita JIfN SIRITS et &2 4 ¢S Wi, 3 (IS 8w, 6 CAIS <1, 2 (4
T, 10 TG W IF SRS 2 (IS I | S ZI AATE (08 Gfisq 7% 2% (2
IR ?

A) 3 Qe SIS (B) 1 (4% €2lq©
6 =TS D) 3 (XS oo

TG ¥ TR o7 fealcemt 4 4191 1T, 3 4191 BT, 6 4191 1T, 2 4191 BT, 10 4191 T @R
2 4171 T | 2161w T4 PG AR R @7 (e SRR S0 ?

(A) 34T (B) 1 47T

(©) 92 (D) 3 4o A

e fafEl geeEHrE 3T 4 MERTE B AW JIHE 3 TRERT, 3T 6
A, ANH 2 TE@™l, MH 10 SE@Est 3 ATH 2 aedr | o =W
SRS TS GGl ATRg-T fof mean o et foga ¢

(A)  STHYE TS (B) 3T TSl

(QERUCEIRUIRIEK (D) HANTH YTH TEETS

T HGt @ = A0 guF fS9 4 hen =, 3 el S, 6 Hed H19, 2 el FHR, 10 Hed
FHR 3R 2 Hed < TAdT & | T&f 8 36 Y& FhaT AT 39 YEATI heH & T899 | 98 376
HE @S E ?

(A) 3HeH IW (B) 1heHIW

(C) 3t ShTE W (D) 3%er I

While coming down a staircase, Jignesh walks down 4 steps, up 3 steps,
down 6 steps, up 2 steps, up 10 steps, and down 2 steps. Where is he
standing in relation to the step on which he started his exercise ?

(A) 3 steps above (B) 1 step above

(C) The same place (D) 3 steps below

104.

104.
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fTafeTs (PG 2 SMER *=7re 2o Teb! Spiadt F11 712 ?

(A) MPRTV (B) PRTVX

(C) CEGIK (D) 0QSUW

e Safema T @R Swer 7[l FEifEs foms seprme @t 2
(A) MPRTV (B) PRTVX

(C) CEGIK (D) 0QSUW



104.

104.

104.

TETH ST TGS 480 GHT S=TR=ISH Ffer 7

(A) MPRTV (B) PRTVX

(C) CEGIK (D) 0QSUW
frferfiga © @ % gatl gra faifd frem =1 oo 72 #ar e 2

(A) MPRTV (B) PRTVX

(C) CEGIK (D) 0QSUW
Which of the following does not follow a rule set by others ?
(A) MPRTV (B) PRTVX

(C) CEGIK (D) 0QSUW

105.

105.

105.

105.

105.

Mo f2RIT IS Beife 12 7 TSR T @ — “Of2 @ FHTCOR GFg 7[@9 GRS 17
IGA (PTCS AOF TFRB! F 2

A) «g (B) =
(C) (D) wifart

MO TR 0 AR FRE TG A6, “01 AN FromEd 9Fg “@d 01 7 el
TSI 0 PRI TAfFS 2

A) = (B) @

(C) =BT (D) =i

e | Tiaret Usfs o1 Jmier ?

(A) femm (B) feammE

(C) fomme O IBERIE

TS = e o1 it d BT T S B, “a8 TR QT % Sohaild S i Sel @ |7 T Wit E
Y FEfra g ?

A) = (B) =&

(C) =i (D) st

Introducing Geeta to Priya, Rajani says, “She i1s the daughter of the only son
of my grandfather”. How is Geeta related to Rajani ?

(A) Mother (B) Sister

(C) Aunt (D) Niece
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106.

106.

106.

106.

106.

N @F B3 (19 eferifirere F9es 5% 63 92 @ifEs st =nfee | wifes
ZTe (@O WiRe, 5T 7 Mo Ok FrRES 67 ¢r | eferiier wiiel J2ve
PRPT 9 T [ Wi 5% G TRre @ER @iz @3 iR afsrifers
fera a1t 97 | efswifsrsiibe @it =@ 2 e Fffee 2

(A iz (B) oAl

(C) fee M

w35 AiEEe efsrfsren @ifEs R @t afar feer ar [5ae feet oF 5 fPree |
@ fost QA o B, 58 6y TR SR o1 PRI =i IR | ORI o) A
P feaes 2w T, 53 of2 T et (ifescs 2w afswifien o e 36 |
(R IR elfsrifarst 7)o B0z ?

A) Wiz (B) I

(C) feze M

A ATgehe] WRAT SRR Hifgasn agigs o st fafr sAemusmear e |
[T AT ARG SHIF | T <8 o1 3419 fuferat sra'a | Seymwema fufesan
fertorat I’ fores & THTEAT Seet WHRN Aifgd@l SRE' AT SIeRAEAET @l gR |
& AR T SIS ARFRG BISHEuT G371 11 7

(A) g (B)

(C) fortm (D) fifs

T TTEihet grg H Tertur ot dies i B Aifed gie | 1T =1et TaT o7 | [T 3Afad w4 we oft
Sfeh 3 TH 91¢ fishl & 31 faeher 18 | TRt wig W, fisht fertor @ e 311 fehet Tt
7, ST 9T Hifgd & 3T fehat oL 14 Sfid 91l @ | ge 3ifaw fopee gt <6t 2

(A) g (B)

(©) Tt (D) foeht

In a bicycle race Mohit was leading the race with Kiran just behind. Reshma
was at the last position, but after some time overtakes Pinky. At the last
bend, Pinky overtakes Kiran, exactly when Reshma overtakes Mohit to win
the race. Who completed the race last ?

(A) Mohit (B) Reshma
(C) Kiran (D) Pinky
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107.

107.

107.

107.

107.

5% S¥® @1 T R4 BT 0% Fwe GOl 2316 T4 eme WG P! 4
iR ?
64D53413BD684U64AM154E9G316KLB24054

A 5 (B) 2
© 0 D) 3
@ creal Fbre @b W 4 =itz [ 0% 578 2 G0 3 TRy o2 4R 0F

S T 9B BTG FEIf IR 2
64D534I13BD684U64AM154E9G316KLB24054

A) 5 B) 2

€ o0 D) 3

TETATE BHTT HITE THEE 4 g STABR R S smfsmT 3T 39 TR g/l ¢ 2
64D534I13BD684U64AM154E9G316KLB24054

A 5 B) 2

€ 0 D) 3

& TS Tt | UH foha 4 2 feh 3tk Tt T 0 T 7 3R 3o 916 T ST a7 2
64D53413BD684U64AM154E9G316KLB24054

A 5 B) 2

€ 0 D) 3

How many 4’s are there in the given series which are immediately preceded

by an even number and immediately followed by a vowel ?
64D53413BD684U64AM154E9G316KLB24054

A 5 B) 2

©€) o D) 3
108. 36, 34, 30, 28, 24, ...... XY RS e oI AT AR 2

(A) 22,18 (B) 26, 12

(C) 25,15 (D) 20, 10
108. FHCS : 36, 34, 30, 28, 24, ...... T 76 TR *RTOICS SPTE 2

(A) 22,18 (B) 26, 12

(C) 25,15 (D) 20, 10
108. TTETH BN ITARIATE ST STFITHT FHAST AT ?

36, 34, 30, 28, 24, ......
(A) 22,18 (B) 26,12
(C) 25,15 (D) 20, 10
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108. @1 36, 34, 30, 28, 24, ...... H 3T M H g §&ATd 31T iRy ?

(A) 22,18 (B) 26, 12

(C) 25,15 (D) 20, 10
108. In the series : 36, 34, 30, 28, 24, ...... which two numbers should come next ?

(A) 22,18 B) 26, 12

(C) 25,15 (D) 20, 10
109. P! *=1eh! foelie 1

(A) Egypt (B) Angola

(C) Uganda (D) Sudan
109. TCIR =<3l (AT fajet Q! *=1ib e 3 -

(A) Egypt (B) Angola

(C) Uganda (D) Sudan
109. TEREH € A T GESR ?

(A) Egypt (B) Angola

(C) Uganda (D) Sudan
109. fr=foriaa sreei & & forww vreg st wg=m I :

(A) Egypt (B) Angola

(C) Uganda (D) Sudan
109. Identify the odd one in the following words :

(A) Egypt (B) Angola

(C) Uganda (D) Sudan

110.

110.

SLRC-2022/P-I/B 70 e

A+BIgd2da, AT@ZBIMG IA-BIwf25, A2 BI©Y | A@ B3I,
29, ATRE BIPe, 9IF A x BuL (2@ A 2s BI =1l | ff1iie @G [RFs2 e
IE AP 2R QI ?

(A) Q-N+MxP B) P+SxN-Q
(C) P-M+NxQ D) Q-S@P

A+BRRRNAT BN | A—BARRAZFBYI®2 | A@B @RTA T B @I
7ol @3 A x B @RI A 281 B @3 @ | 103 &l [RPe1b @RiT @ P o1 Q @31 S |
(A) Q-N+MxP B) P+SxN-Q

(C) P-M+NxQ D) Q-S@P



110.

110.

110.

A+ BTl smem A st B fsm | A - B sifirn sem A 3 B T wem |
A @ B T3 31fern Stemr A 311 B [ fewt | A x B 3ifern Sre A 30 B f feAmma | merfa
o A TR T P @t Q 7 femm e 2

(A) Q-N+M=xP (B) P+SxN-Q

(C) P-M+N=xQ D) Q-S@P

A+B®iudes A, BHRIAIR |A—BHI Adcld A, BHIUE 2 | A @ BH1Hded A, B
1 2 3 A x B o1 5o A, B ol 5g4 8 | friforfiaa § @ o6l o fersheu i 2 f6 P, Q
HIHMETE ?

A Q-N+MxP B) P+SxN-Q
C) P-M+NxQ D) Q-S@P
A + B means A is the mother of B. A — B means A is the brother of B. A @ B

means A 1s the father of B, and A x B means A is the sister of B. Which of the
following alternatives shows that P is the maternal uncle of Q ?

(A) Q-N+MxP B) P+SxN-Q
(C) P-M+N=xQ M) Q-S@P
111. I Parts S Strap * 76! @I ROW Fre S@mid s=iFe 27, (o @& FReE
Wolf *I<C5! (I *<rq PICS 7=o{[F® 27 ?
(A) Flow (B) Animal
(C) Wood (D) Fox
111. Parts 932 Strap *R1CSIClb AW & G SR 7S 27 = Szl TN Wolf @3
3t i *% (I ?
(A) Flow (B) Animal
(C) Wood (D) Fox
111. 9f¢ Parts 3T Strap WIS IERG ST T8 TR ArE-G! THT, MEEH o« dige @
@ Wolf St Gl T ?
(A) Flow (B) Animal
(C) Wood (D) Fox

111.

Ife 3sc Parts 3™ Strap fret T @ geaftq 2, 1 ford vsc s Wolf & T &9 | Gefid
T =R 2

(A) Flow (B) Animal

(C) Wood (D) Fox

[

SLRC-2022/P-/B 71 2uF  P.T.O.



111. If the words Parts and Strap are related in some ways, then which word
should be similarly related to Wolf ?
(A) Flow (B) Animal
(C) Wood (D) Fox
112. @I ¢F 3T SpRe B MILITARY $ NIMIUASY 251t 614l (22 | 930! F To
SEMINARY 3 (W 123 =i 2
(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY
112. &f5 8 7EFte MILITARY 3 NIMIUASY @13 ¥, S I32qF HFS IA2A
3 SEMINARY FreItd @141 24 ?
(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY
112. @A 38R (Code) S, MILITARY @t NIMIUASY foam Siei | SEMINARY @t &
T SERTST AT for ?
(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY
112. v fafead #ig & MILITARY & NIMIUASY for@n Sirar 8 | 36t s & SEMINARY
o1 A foram e ?
(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY
112. In a certain code, MILITARY is written as NIMIUASY. How will SEMINARY
be written in the same code ?
(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY
113, IR (@G *1 G0 (IS Teee 723 ?
A @RS (B) T=EbIfeTo 8
(C) @ (D) TERE
113. 0 SRS =R N (i >0 G358 (AR TGS 3 2
A) w=E (B) T&DIfTS (Tpl
(C) eIy (D) TrorERE
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113. e ¢ A9Y FeiE TE g7 IS ?

(A) STES (B) wex et
(C) el (D) 3T STER
113. fFr=fciRad ® & s 91 31eg F9H g ¥ FEfd 18 & ?
@A) e (B) Hiw@IE
(C) Tl D) =g
113. Which of the following words does not belong to the same group ?
(A) Ship (B) Motorboat
(C) Train (D) Aircraft

114. WIS I *>F P *=RAARE TE 7= 2

(A) Hanger (B) Airport

(C) Aeroplane (D) Aircraft
114. 0 SIS X0t 04y (I #9115 oo (Ao feey 2

(A) Hanger (B) Airport

(C) Aeroplane (D) Aircraft
114. TERM 56 T GiasT TG AR Q@B IR a1 ¢

(A) Hanger (B) Airport

(C) Aeroplane (D) Aircraft

114. T=faRad & @ s 1 31eg 29 wreg) € fim 2 2

(A) Hanger (B) Airport
(C) Aeroplane (D) Aircraft

114. Which of the following is unlike with the rest of the words ?

(A) Hanger (B) Airport
(C) Aeroplane (D) Aircraft
115. 12, 11, 13, 12, 14, 13, ?, ... *R¥EGR e¥@IES ©F (?) Bl 337 2
A 10 B) 16
(C) 15 (D) 13
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115. FCe @ 12, 11, 13, 12, 14, 13, 2, ... @ 51 e (2) bz 2 o 3903 ?

4) 10 (B) 16
(C) 15 D) 13
115. 12, 11, 13, 12, 14, 13, ? , SIITE FAM™ BRART @ 71 ST diet=@r gome 2
(A) 10 (B) 16
(€) 15 D) 13
115. @a 12, 11, 13, 12, 14, 13, 2, ... H, TR-a/=s (9% (?) % M W S & G@ 1w
g7
4) 10 (B) 16
© 15 D) 13
115. Which number replaces the question mark (?) in the series : 12, 11, 13, 12,
14,13,7, ...
4) 10 (B) 16
(C) 15 D) 13

116. 2SI, TSN, A9
G N[HCFIHIF oS ol BICe! (oo ow2 efSfefig Ffi9 2

e
© o (00

116. MR @ o Hafb afsiag F9@ €2 7744
IS, AT, A9

ey
© o (00
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116. TEREM 99 9 GRS Het, Set ST, HiET BIHET ?

e
© o (00

116. Which of the following Venn Diagrams would represent Elephant,

Carnivorous, Tiger ?

A)

D) @ O

©)

9@

117. ¢ foerTRs ! foq o HapTiRes 52 ?

(A) /]\ (B) D
© ) —<

117. MR &= o’ S @ feg 2

(A) /]\ (B) D
(©) E (D) —<
i
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117. S THY FTRTIET [EAHBR a1 ?

117. S 91 o5 g § 3T 8 ?

117. Which of the figures is different from others ?

118. 51 =g 73 2wl Sl il st fbae ¢yedl 2z |

1 6
E NE
3@ 5 fo14t PISTER 59 foiss 1o 2t =iaeh! tarz
A 2 B) 3
©) 4 D) 6
118. I3 G2 B YA (RN 27, O G3 TFeiee] (41
1 6
E NE
SRCE RS EICK [CERISTIITEG
A) 2 (B) 3
C) 4 (D) 6
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118. SieetT T SEHE! @oa TReErsar, fafy fhemse merme g9 S SIERE 8@ |

1 6
3 5 |3

4

fafeean 5 1 Seutfufy fogama o sHfsmRT 1 2

A) 2 B) 3
©€) 4 (D) 6
118. e Tsh &1 UT8 1 &1 ST GHTET STell &, 1 JRoms I&f femmg mu s g
1 6
4 3 5 3
U1 o 37 5 o ol hefeh W 3T & :
A) 2 B) 3
©€) 4 (D) 6
118. When the same Die 1s rolled twice, the outcome 1s as shown :
1 6
4 3 2 3

The digit on the face opposite to 5 1s
A 2 B) 3
<€ 4 D) 6

119. &we B (FIFG! BRI CFae T S (Fiel TR @9 360° P T F ?

I

A B (B) D

©) A D) C

mym
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119. Babre @ SAmHG St @I e 360 T 4 2

A

o
V4
D
A) B B) D
© A D) C

119. & FEi g« @i-erel i BT gremema 3 360 farfifgg @ ¢

g
V4
D
A4) B B) D
© A D) C

119. & it 3mepfa ®, form 377 % 3trafies ivn 1 A 360 fafiawa g 2

B

V4

D
A) B B) D
© A (D) C

119. In the figure, which component has the sum of the internal angles less than
360 degrees ?

g
V4
D
A4) B B) D
© A D) C
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120. EGre 451 &M@ B (2) G 5T I8N TGI=y FAAIH! 52 7

299

1491

75

(A) 597
(C) 497

(B) 697
(D) 579

120. TICS emw@i (?) forzs «Ifcs e[y =it foive 9 -

299

1491

75

(A) 597
(C) 497

(B) 697
(D) 579

120. fefRr 319 o S BIERET e e T SRS Je ?

299

?

1491

75

(A) 597
(C) 497

SLRC-2022/P-I/B
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120. 39 G T 1 52 i St e T Yo § yyarees g (7) o1 e ot
9

299 5
1491 19
75 19
37
(A) 597 (B) 697
(C) 497 D) 579
120. Choose the possible number that would replace the question mark (?) in the
pattern :
?
299 5
1491 19
75 19
37
(A) 597 (B) 697
(C) 497 (D) 579

121, i SRS e Haeh! fomire 54 :

joR:Ge/

(A) B
©) A

B) D
D) C

121. S0 @F for 1 siemt foaft e w0

joR:Ge/

(A) B
©) A

SLRC-2022/P-I/B
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121. TSR STATET FETRE@! AR |

B W vy

A) B B) D
© A D) C
121. gEU & 31er fot 6 vg= =i

B WO vy

A B B) D
<€ A D) C
121. Identify the figure different from others :

B WY vy

A4) B B) D
© A D) C

122. X’ 3 fofeee BawbR wicei-aifske baw! (a2t —

)

X)
Qo 1O
(1) (2) (3) (4)
A @ B) @)

© 3 D) @)

mym
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122. X’ %[ bfes bafhd woier afske ==

)

X)
(1) 2) 3) (4)
@A @ B) 2
© 3 D) (4

122. X’ T grermi g st 99 g3 ?

)

X)
(1) 2) 3) (4)
@A) @ B @)
© 3 D) 4

122. X’ % &9 ¥ fafed amepfa Hi g sfa 2

X)
(1) 2) 3) (4)
@A) @ B @)
© 3 D) (4

L= LS
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122. The mirror image of the figure marked as X’ is :

)

X)
(1) 2) 3) (4)
@ @ B) (@)
© 3 D) (4

123. == A0S ol eme SIfED! Kege @re siw Wl SifEd! @ikt @l 29, o

oo 41 |

494

(1) 2 3)
@A @
© 3

(4)
B) 2
D) (4

123, To= FI9CE P 7Y APl @IS SIS FAE ¢l

FreE 72 TIF ot fofzrs et 2

4 4.

(1) 2) 3)
@A @
© 3

SLRC-2022/P-I/B
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123. T8 TS foers@! fo= T {@st SHTsa MeRma §F™ Hal HTaR J9aiE 7

41912 N

(1) 2 3) (4)

@ @ B) 2
© 3 D) 4

123. 5& Uy e i fodier @ W Hier S &, a1 fean mn e e fewrs &, 39! uge ¢

41412 9.

(1) 2) 3) (4)

@A @ B) 2
© 3 D) 4

123. Identify how the pattern

would appear when the transparent sheet is folded at the dotted line ?

4 14 @ S

(1) 2) 3) (4)

@A) @ B @)
© 3 D) (4)
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124. @me SIfECG! 75 PlAeT e (RIAT S¥CG! foefie 1 :

K

(1) 2) (3) (4)
A @ B (@)
© 3 D) @)

124. &we oAb 5715 w1 wxifG s weal -

K

(1) 2) 3) (4)
@A) @ B @)
© 3 D) (4

124, BT HET@! 377§ WTATHIT STErTE B |

K

(1) 2) (3) (4)
A @ B) 2
© 3 D) (4)

mym
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124. 39 T 6 TEFH L ST 4o ol [0 HAT 2 -

K

(1) 2 3) (4)
@ @ B) 2
© 3 D) (4

124. Identify the portion that completes the pattern :

K

(1) 2 3) (4)
@ @ B) 2
© 3 D) (4

125. @e Dapz SR 91 o1 « 2 7 25 92 “a1 foach! [oi< Sfere |
QO
JANV-NE
=&

0 O » O
© ﬁ D) E>
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125. 5@ IRFCE SR FC R (2) @7 ARICS @ Bafb 203 & @@ I |

O|0|0O
AN\A
=> >

w O AN
©) ﬁ (D) E>

125. FEMNGIE! AR 310 G- B rEREE g g g™ ?

O|0|0O
AN\A
=> >

o O AN
©) ﬁ (D) E>

125. =1 & THg 1 3129 L 3T qa1 i fob i a1 fo « 2 o1 wfeenfia swom 7

OO0
ANV NI
=> (>
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125. Study the set of figures and find out the one which would replace “ ? ”

OO0
ANV NI
=> (>
(A)@ (E@

126. 7 — 10 — 15 — 22 — 30 — 42 — 55 SIFAWGIN SN ARG Toelre 1 |
(A) 30 (B) 15
(C) 22 D) 55
126. fafefie wxfbrs srem 724G fofe w4
7-10-15-22—-30—42—55
(4) 30 B) 15
(C) 22 (D) 55
126. TN A TR M1 ferererat fmm 2
7-10-15-22—-30—42—55
(A) 30 B) 15
(C) 22 D) 55
126. @A § TeTd U ! I8=H i |
7-10-15—-22-30—42-55
@) 30 B) 15
(C) 22 D) 55
126. Identify the incorrect term in the series :

7—10—-15-22-30—-42-55

(A) 30 (B) 15
€) 22 D) 55
mym
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127. (2, 6, 24, 60, 120, 216) *RFIGIS Se FRG! Hre 1 |
A) 216 (B) 120
(C) 24 D) 0

127. ffariis wfbes s s1:4ifh fofers 54 -

2, 6, 24, 60, 120, 216)
(A) 216 (B) 120
C) 24 (D) 0

127. BIN3TE UHR MR 71 faeremet e 2
2, 6, 24, 60, 120, 216)

A) 216 (B) 120

(C) 24 (D) 0
127. @1 § TeTd U %! I8=H i —

(2, 6, 24, 60, 120, 216)

A) 216 (B) 120

(C) 24 D) 0
127. Identify the incorrect term in the series :

(2, 6, 24, 60, 120, 216)

A) 216 (B) 120

(C) 24 D) 0

128. frferre i S92 Ko <1 -
AT 1: 4o FA
Fm2: 1 R

T3 : IV 15 F ¢ =W (o8 “RIT 1 & & @R ST O[] 777 STg 347,

T2l 2R 4 & e @[t
A4 : 3T
R 5: W 18 O3 Tled 27 (o0 2 st i

ST WA 2 4T TS IR LR SO Col QAfReeT S weieret 527 2

A 11 (B) 18
) 17 (D) 19
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128.

128.

128.

SLRC-2022/P-I/B 90 e

feaferfirs smemtetet RKama 39 -

g1 4 IR

qa2: 1R@meF

Q3: AW 15 (A N 2SI 1 R 4IC7! 9 FTI (/ITF TS 415 Tl 4 =12 41T
Qi TS |

g4 : 3 5 F9 |

q5: 18 (A0 I8 = 2 [aal 7

2lff T 2 0 SIS IR SIS QST SePTRe FHCE KT TR 207 2

@A) 11 (B) 18
© 17 D) 19
BT ST AT S —

AM1: 4N

FARM2: 1qHE

a3 e 15 T g gafea SR, A 1 31 it AR SR ST ;
ST 3T 4 1 fm g |

AMM4: 3N

M 5: i 18 T gs @i 9w, 2 gE’

SfE TS 3T BRE FfEfEs 919 2 S grermRieet, e T 91 [ ?

@ 1 (B) 18
© 17 D) 19
FrforRaa =mon w femm =i

TWOTL: 4|

oOT 2 : 19eH |

TWOT3:  FMQ 15 WHA E, I O 1 WAR TR & H T TWl; =T =R 4 WA ¢ |
WOT4: 3R |

TWOT5: IC 18| IIH &, @1 2 7 |

fe ITH TTT T UTei 2 o TRITH T o G1 Tohar Sran 7, @t Stfa afvormm <= grm 2

A 11 (B) 18
©) 17 (D) 19



128. Consider the following steps —
Step1: Add4.
Step 2: Subtract 1.

Step 3: If less than 15, jump to step 1 and continue from there ; otherwise
proceed to step 4.

Step 4: Add 3.
Step 5: If greater than 18, deduct 2.
What would be the final result if the above steps are followed with the initial

value of 2 ?
@ 1 (B) 18
(C) 17 (D) 19

129. fTafafs @ @R *@72 “Tge el : SRR oG Tt 5o ZIofw 7 ?

(A) Jfhorrel : fewiRat Gw Ree (B) A3 : aAEeal

(C) T=IR: (5260 o B (D) el : SrEZe
129. M@ Srale @ (Sioib “Ten Ve : SRR @9 1@ GPeeid FEe ?

(A) Forere! : ferEIEl IR (B) W13 : =TIl

(C) TRIT: (91R5SH o 2f (D) e : Siewze
129. e & 81 “MgH foeet! : SRR arafed Ml ol ?

(A) whictehrar : fyeiien om fae (B) =% : et fepeet

(C) Y=g : Ted 3% sfean (D) 3T : ATHEA
129. fr=fefaa 9 @ &= a1 e 3H atE gafid @ 99 98 fooet : amafiar” & ¢

(A)  hicthrar ; foereifan aaiftes (B) =S : ATl

(C) HwE : TIeel T e (D) 3T : ATHEA

129. Which of the following pairs is related in similar way as “New Delhi :
Charminar” ?

(A) Kolkata : Victoria Memorial (B) Chennai : Red Fort
(C) Mumbai : Gateway of India (D) Agra : Taj Mahal

[EHiE
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130. PENTAGRAPH — ENTAGRAP — NTAGRA - ?

XRLUFANG SN9RI2 R SR *AC5!
(A) GRAT (B) TAGR
(C) NTAG (D) AGRA

130. R TG TS FACS *RTS! =6 Fl 2(F ?
PENTAGRAPH — ENTAGRAP — NTAGRA — ?
(A) GRAT (B) TAGR
(C) NTAG (D) AGRA
130. TTEI BIE! SET gF1 YR 3R 3716 |1 Jget M € 7
PENTAGRAPH — ENTAGRAP — NTAGRA - ?
(A) GRAT (B) TAGR
(C) NTAG (D) AGRA
130. ’j_'@?lT PENTAGRAPH — ENTAGRAP — NTAGRA — ?
ST T b ot 31T < g 2
(A) GRAT (B) TAGR
(C) NTAG (D) AGRA
130. What would be the next to continue the series :
PENTAGRAPH — ENTAGRAP — NTAGRA — ?

(A) GRAT (B) TAGR

(C) NTAG (D) AGRA
131. [RIGIRIT OIS i *=7h! foetre /41 |

A) @ B) FIIe

©€) ©TEw D) FibeETs
131. ST iz 51 oS “ifqemift fifes 34

A) IFS (B) IRCTS

(C) IE&® (D) FRbES
131. IERIS G THT Figeg! AR ?

(A)  FHAS (B) &

(C) Fad (D) it
131. T § HEld e hl Tg=H o

(A)  HATTAS (B) &M

(C) Feud (D) it
131. Identify the term related to the military :

(A) Camouflage (B) Carnage

(C) Cabbage (D) Cartilage
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132. FTfIRIS TGt *=7 IR “Bfem : Arzer” Toibfha Tps o oiw T 2

(A) RIS : A7 (B) o : @&
(C) forml : Fif<m (D) < : &0
132. 10y (&1 (RITIBTETR A0 (PG ‘B : AR 99 TS GhE[F F9/fFo ?
(A) 417 ©F (RFIHD) « A= (B) Tl : 5
(C) 1% : &b (D) e : %
132. TEMEf 99 SRIET “Se: Tomi” sRfed S ¢ ?
(A) Tz : STee B) g5 :fafa
(C) &MU : ™ (D) & :9q
132. T3 T SIS § ¥ forueht T899 ‘594 ; 918 ST ?
(A) Thame : s (B) 9T :
(C) 7R (D) i : 9
132. Which of the given pairs has a similar relationship as “Engine : Vehicle” ?
(A) Filament : Bulb (B) Thread : Needle
(C) Cup: Plate (D) Ball: Bat

133. G301 (35S SRES SR IR FRIYIG! ires =4 |

(A) 1331 (B) 1728
(C) 3375 (D) 2788
133. Mo or@efe o1 2eqt =i iz <4 -
(A) 1331 (B) 1728
(C) 3375 (D) 2788
133. TG 1T SHGERE! ™ ?
(A) 1331 (B) 1728
(C) 3375 (D) 2788
133. 30 T <l TgH i S THg | Faferd el g =i |
(A) 1331 (B) 1728
(C) 3375 (D) 2788
133. Identify the number that should not belong to the group.
(A) 1331 (B) 1728
(C) 3375 (D) 2788

myE
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134. S+ *1374 ACS & *37C6! Dol 47 |

(A) SMILES (B) SPORTS
(C) AGENDA (D) SPACES
134. SR (AT 2T *=11 fofee 39 -
(A) SMILES (B) SPORTS
(C) AGENDA (D) SPACES
134. TSI BRAT AT FeE@! AR ?
(A) SMILES (B) SPORTS
(C) AGENDA (D) SPACES
134. 39 W& hl T8TH B S @RI H TR |
(A) SMILES (B) SPORTS
(C) AGENDA (D) SPACES
134. Identify the word that is different from others.
(A) SMILES (B) SPORTS
(C) AGENDA (D) SPACES
135. TRl (PTG 0 93 Wz o0 72 ?
(&) wog: i (B) ISR : NG
(C) @i : e (D) Tepifomig : i
135. T3 S iA ool w w7 2
(A) Tog: 79 (B) W= el : IRmes
(C) @l : i (D) TeIfeTIE : TR
135. e S« ST e &7 ?
(A) HEN fofiem - ggv (B) <R fafim : axfsfer
(C) T fafim : JA1e (D) S fafiem : srgm
135, ffafed ¥ & wR o e wd i 2 2
(A) i : geft (B) HiHulew™ : aYHESA
(C) wofteTrE ; woft (D) wifey ; 3afe
135. Which of the following pairs is NOT correct ?
(A) Geology : Earth (B) Meteorology : Atmosphere
(C) Zoology : Animals (D) Astrology : Space
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